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Question Number : 1 Question Id : 8797531408 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If a force (F) is acting on a rigid body at any point P, then this force
(F) can be replaced by:

Options:
, = Anequal opposite and parallel force (F) applied at point Q together with a couple
- % Anequal. opposite and parallel force (F) only at point Q

- % A moment at point Q only

4  Anequal. parallel and same sense force (F) at point Q together with a couple

Question Number : 1 Question Id : 8797531408 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
ofs frelt 7o Ris & ool fig P X &9 (F) #3a &, & a1 (F) & fores qanr sfaeenfa e =
'Hﬂa_rlT%:

Options:

| % g Q W 77 & |y &1 (F) & avay, {ulia 3K g7 5e (F) &7 3m9or
- Faa g Q W TR, T ik 77w 77 (F)
- Faer fdg Q 9T JTET

4. ¢
ﬁg Q W A & Ty §7 (F) F &R, FAH AR FAT &1 577 (same sense force) (F)

Question Number : 2 Question Id : 8797531409 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A rigid body will be in equilibrium under the action of two forces only when:

Options:
, w Forces have same magnitude
- % Forces have same magnitude and same line of action

5 x Forces have same magnitude. same line of action and same sense

4 « Forces have same magnitude. same line of action and opposite sense

Question Number : 2 Question Id : 8797531409 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g 39T & & 96 & 9T F JTT FT 7 NS grEarEarAar 7 @

Options:

| » Tl H GRAT FAS A W

o « FoIl & IREATT AR 3 TR W@ w6 B W

o % SOl & TRATT, b R YT A fer wAw @ W

4 v Tl F ARATT, 3T R W@ ' @ WK S fem ol Be W

Question Number : 3 Question Id : 8797531410 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A car is traveling on a curved road of radius 300 m at speed of 15 m/s. The normal and tangential components of
acceleration respectively are given by:

Options:



| % Zero, Zero

4

> % ZEr0, 0.75 m/s-
sz

5 « 0.75m/s, zero

STTL Pl )
4 % 0.75m/s7, 0.75 my/s~

Question Number : 3 Question Id : 8797531410 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FR 300 A, ¥=ar I 9F @Ew 9 15 #/F. & T § T WY g =0T F FAT (normal) HT
Taeftr Teerr T IfYATOT FH: FAT EE?

Options:

AT, AT

1%

o=, 0.75 Hr/A.2

o R

2
. 075 ALIA.S, T

'« 0.75 F/@2, 0.75 /A2

4

Question Number : 4 Question Id : 8797531411 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A ball is dropped on a smooth horizontal surface from height ‘h*. What will be the height of rebounce after second
impact. if coefficient of restitution between ball and smface is ‘e’?

Options:
1 % eh

5> % e’h
3 % e’h

4 v e'h

Question Number : 4 Question Id : 8797531411 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF g F Ch FEs § G fe dfas 7o W e ) 9 i I F mew w1 yemsee e
(coefficient of restitution) ‘e’ 21 9T gfadT THETT (impact) & a1 3ig & IfAETIUT (rebounce) Fr
ST FT g

Options:

1 ® eh



Question Number : 5 Question Id : 8797531412 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

. | . .
An elevator has a downward acceleration of 0.1g m/s~. What force will be transmitted to the floor of elevator by a man
of weight “W” travelling in the elevator?

Options:
, ® W/10
> % 11W/10
5 « 9W/10
4 % W

Question Number : 5 Question Id : 8797531412 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
forelr forre &7 3meiisgEl w=XoT 0.1g #/®2 §| Bve # §eR ‘W 81 &1 =fea ve & a9 W foaar
g 9T FHEm?

Options:

% W0
. % 1TTW/10
- v 9W/10
4 % W

Question Number : 6 Question Id : 8797531413 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the joint method of plane truss analysis. value of forces in the member of truss can be found out when joint has:

Options:
, » Any number of unknown force members

> « Not more than two unknown force members

- % Only three unknown force members

4 % Only four unknown force members

Question Number : 6 Question Id : 8797531413 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ol o fSeemur fr AT 92T #, FE T T Tt d T8 F ¥FUS9 F g9 # A AT Far =

HehaT 87
Options:

|« RO o TEm A AT a9 IS B W
. AT & HATS & W HUF AT & W

5 % S Ol A g HIAT g T

, % hao IR FA Tl HITT gl T



Question Number : 7 Question Id : 8797531414 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Bending moment at distance L/4 from one end of a simply supported beam of length (L) with uniformly distributed load

of strength w per unit length is given by:

Options:

— wi?
— wi?

— wl?

— wi?

Question Number : 7 Question Id : 8797531414 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9f SFE ofEs &F, TAF &7 ¥ Tl a9 w e o915 (L) & 03 F9ded 6° & U Ay o U4 &
gl T dehed HTEUT AT HITATY

Options:

Question Number : 8 Question Id : 8797531415 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The coordinate of center of Mohr’s circle is represented by [ 0, , 75, = Direct stress]:

Options:
[(0xx + 0,,),0]

[(J o E) ‘
o

= ® [D (Jxx_l_gm J]



[ (Oxx +JWJ‘

Question Number : 8 Question Id : 8797531415 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT goT ¥ &g 7 Fw F¥ ea T S
[0pxs 0y = FoTET Hiaaol]

Options:
| ® [(Gx + Jy}*)*ﬂ]

o M o '
[( xx :Lryjjn‘
2. v 2

- [0, (0 + 03,)]
(Jxx + va]]
U’ F o
4 ® [ 2

Question Number : 9 Question Id : 8797531416 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The radius of Mohr’s circle is represented by [ 7, , 7,,,, = Direct stress and T,.,, = Shear stress]:

Options:

(Jxx = Jy}f)

1 & 2

( . +0,.)

2
Oxx + Ty
(g )

Question Number : 9 Question Id : 8797531416 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AR gea @1 = fFas g@nT e i Fer 2
(02, 0y, = 88T Sfaeer 3R T, = HIFI0T gfaed]
Options:

(Jxx_ Jy}»‘)
1 #® 2



Question Number : 10 Question Id : 8797531417 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Volumetric strain in the pressurized thin cylinder with hoop strain (g,) and linear strain (g9) is given by:
Options:

;| % BT E

5> % T 28

5 o 2Eh T8

4 ® € - €1

Question Number : 10 Question Id : 8797531417 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g7 A (eh) 3R 8w gl (o) I 9o aeipe BfEs 7 smyae g (Volumetric strain)
grem?

Options:
1 #® Eh + E!

5 % th + 2 ¢g

5 28h * €
€h - €
Question Number : 11 Question Id : 8797531418 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Basic equation of deflection (v) of the beam is represented by ET g = M . where EI —flexural rigidity and M—

; 3y .
Bending moment. then ET E: will be:
Options:
, % Rate of loading
> « Shear force at the section

5 % Bending moment at section

4 % Zero always



Question Number : 11 Question Id : 8797531418 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

o Bt dr & ReEror F genm wEeor E1S Y = M ZaRT Sea AT S ¥, S@t Bl - asar

[ix-z
FORAT HT M—Tehad TEOT &, H?Ef‘ifa:rm?rrm?rﬁﬁm
Options:
| % #AROT & T

- v TS T FIEIUT T
. x T8 T T AU
, w BT AT

Question Number : 12 Question Id : 8797531419 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A link (OA) of length ‘r* with center ‘O’. rotates in a circular path in clockwise direction with constant angular velocity
(). The tangential and radial acceleration of point (A) relative to center is respectively given by:

Options:

i
1 o 0.07T
oo 'D, 0

z % @7T,0

gl ¥
4 % OT, QT

Question Number : 12 Question Id : 8797531419 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘O’ g FTeNr F FETR T U ok (OA), TR FI0T 39 (o) ¥ fETES T # 0F g 99 W g
T T 8] Fe & weT [{g (A) & T R Bew =W & A\ wAw F/=@w gem?

Options:

A o2
- % 00

3 % mzr,ﬂ

4 ® @2r, @2r

Question Number : 13 Question Id : 8797531420 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



If the directions of velocity at two different points(AandB)on a
rigid body are parallel and equal in magnitude (V4= Vg) as shown
in figure. Then its instantaneous center will be:

Va

Vs

Options:
, % Atcentroid of the body

- % On the surface of the body
5  Atinfinity

4, % Outside the body but not at infinity

Question Number : 13 Question Id : 8797531420 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofE e T8 Mz & 2 fee Regat (A 3R B) WX 397 1 fFer B9 # 22T 38R A § AR 39
AT (Va = VR) STET &, O TWHT dceTiUleh shg &gl arem?

Ve
Vs

Options:

. x TE F Fegh W

o % ﬁg#ﬁq

2 v HAd W

, » A2 & e AR 30 WX el

Question Number : 14 Question Id : 8797531421 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If ‘4" number of links are connected at a joint. Then it will be equivalent to:

Options:
, % 2 quaternary joints

> % 1 binary joint
5 % 2 binary joints

4 3 binary joints

Question Number : 14 Question Id : 8797531421 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ifg ‘4" A (links) e wfr & 331 2, aF I8 Fos @A M



Options:

- 2 Tdsh HEEl & WA
o 1 SR @i & arEe
L % 2 ST GfeEr & @He
. v 3 EfFsmrdr gfet & g

Question Number : 15 Question Id : 8797531422 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The circle passing through the pitch point and concentric with the base circle of Cam profile is known as:

Options:
1 % Prime circle

> « Pitch circle
- % DBase circle

4 % Trace circle

Question Number : 15 Question Id : 8797531422 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

#W#WF#WM%@?@?&*{ S aTe Ied I FAT Fal AT 27
Options:

| % AeH Fod
z.wﬁa‘qm
L AT Ied
5w FTE T

Question Number : 16 Question Id : 8797531423 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Number of pairs of teeth in contact is given by [where. @= pressure angle]:

Options:
, « (Arc of contact) / (Circular pitch)

> % (Path of contact) / (Circular pitch)

2 ® (Arc of contact)/ (cos @ xCircular pitch)

L% (Arch of contact x cos @)/ (Circular pitch)

Question Number : 16 Question Id : 8797531423 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



3 grar & AT Y FEAr A T H g, H# FEe @ syea Bar Smar 27 [Selo= g Fiv7]
Options:

| o T T e R
L T 9/ g R
- T T/ (cos ¢ x Feard )
. (T =T x cos o) Feaw T

4.

Question Number : 17 Question Id : 8797531424 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The minimum speed (rpm) of engine at full load condition and maximum speed (rpm) of engine at no load condition is
given by 245 and 255 respectively. The sensitiveness of governor will be:

Options:
1 ® 1%

[

-
(=3

o W i

i =}
=

T 30
4 4%

Question Number : 17 Question Id : 8797531424 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

qOT $ROT HTEAT H F & w708 =1 (rpm) R BT SR07 arelr Haewr # s997 F 31feas o
(rpm) AT 245 3R 255 2| " Fr GagAsiear Far ge?

Options:

1 ® 1%

o W 2%
T W 3%

g o 4’?"::-

Question Number : 18 Question Id : 8797531425 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hammer blow in reciprocating engine varies with:
Options:

, % Rotational speed

-  (Rotational spezad)2
- » (Rotational speed)l?

4 % (Rotational 5peec£)3



Question Number : 18 Question Id : 8797531425 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SeATHAT ST (reciprocating engine) ¥ AT &l (Hammer blow) f3rasF 38R Fgerar &2

Options:

Question Number : 19 Question Id : 8797531426 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The rotor of a ship with moment of inertia 200 kgm2 and rotational speed of 200 rad/s. What will be the gyroscopic
couple when ship turns to left at radius of 100 m with speed 5 m/s?

Options:

1 % 20Nm
> % 200Nm
3 « 2000Nm

4 % ZNm

Question Number : 19 Question Id : 8797531426 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
el STETs % AT 1 HscT HEOT 200 Frema R guit =rer 200 Ww=A. §) ofE sE=r 5 HA
=er & 100 A Bswr ¥ st AR gHar g, & gUietET J9AT (gyroscopic couple) FT ERI?

Options:

| % 20Nm
. % 200Nm
- « 2000Nm

4 % 2Nm

Question Number : 20 Question Id : 8797531427 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The system in which the amplitude of vibration decreases with time and ratio of amplitude of successive oscillation
being constant is known as:

Options:

, % Undamped system

-  Underdamped system

5 w Critically damped system



, % Overdamped system

Question Number : 20 Question Id : 8797531427 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3H OF F FAT Fal AT § 60T AT F T F97 &7 JTH FF 2197 & 3T 3caiieaw ot & 3aH
FT IS B g 27

Options:

| % HAFHATET dF

. v o9 ¥EHEfET a9
- % FIde HIAfCT a7
.« ¥ AT a9

Question Number : 21 Question Id : 8797531428 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The ratio of two consecutive amplitudes of an underdamped
vibrating svstem is given by:

[where, 6= logarithmic decrement]:
Options:

1.9 €

Question Number : 21 Question Id : 8797531428 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e 3o AT 97 39 F I TNAR HEAT F IS F HE e AT Srar 82
[STET, 6= STERIURRIT H9aTd 2]

Options:

Question Number : 22 Question Id : 8797531429 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A spring of stiffness 50 N/mum is mounted on top of second spring of stiffness 100 N/mum. what will be the deflection
under the action of 500 N?



Options:
1 #® 3.33mm

- % 5mm
= % 10mm

4« 15mm

Question Number : 22 Question Id : 8797531429 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

50N/mm T gerarar arer 5T # 100N/mm #r geAgar arer gue {8 & offf o wremar a2 500 N
T IR A R fFeror fraar gem?

Options:

; % 3.33 &
- % 5 A
= % 10 f&#T
4 « 15 f&aT.

Question Number : 23 Question Id : 8797531430 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the stiffness of spring of centrifugal clutch is increased. it causes:

Options:
, w decrease of engagement speed

- « Increase of engagement speed

5 % Do change in engagement speed

, % Increase the friction torque at maximum speed

Question Number : 23 Question Id : 8797531430 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HIFET Forel & TEHT Fr FIar /| FIAar (stiffness) TS 9T FAT 21T 272

Options:

| w Y TS FH EATE
L o I T TS E

L « P A H FIY IREAA el g
, « HUHAH M 9 GG 2 (friction torque) F&aT &

Question Number : 24 Question Id : 8797531431 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Journal bearing works satisfactorily with L/D ratio in the range of:
[where, L= Length of bearing, D= Diameter of journal]

Options:

1 W 1-2

5 % 10-20
= % 0.1-0.2

4 % 0.01-0.1

Question Number : 24 Question Id : 8797531431 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

w ¥ ¥ UD 399a & oo 33107 (Journal bearing) HAMSTas ¥ ¥ F1 T 27
[<Tar, L= S31f{er &7 o=1g, D= Sl &7 =319 ¢]

Options:

1 @ 1-2

. % 10-20

- % 0.1-0.2

. % 0.01-0.1

Question Number : 25 Question Id : 8797531432 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Power transmitted (Watts) by spur gear may be given as [F; = tangential component of force (N). F,= radial component
of force (N). n = rotational speed (rpm). and d = pitch diameter (m)]

Options:
ndnF,

1.« 60
mdnF,
o W 60

(‘Hdn)g £
2 % \60/ ¢

(}Id?’l)z £
g W 60 i

Question Number : 25 Question Id : 8797531432 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TR BT (spur gear) Z@RT F=IE offF T (3@ #) Fr F¥ 0T BFar I F@Far 27 [F= 7o (N) 7
TR e, Fi= aa (N) & B ges, n= goft =mer (rpm), 3R d= = =@ (m)]
Options:
ndnkF,
1 « 60




mdnF,
o W 60

(}Id?’l)z £
- % \60/ F

(}Idﬂ)z £
4 W 60 i

Question Number : 26 Question Id : 8797531433 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The total normal force ( F ) acting on the area of contact of disc clutch (Assuming uniform distribution of interface
pressure) is:

(Where P is the Intensity of pressure. 1, and 7; outer and inner diameters of disc respectively)
Options:

= P
. F—‘JIP(TG 1 )

> % F =P (1 — 1) /2
5 x F=2nPry(r,—1)

4 % F= 2T, —1)

Question Number : 26 Question Id : 8797531433 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(HETIET &8 T THEA [&aor Aed gv) Ber o & "9 &F W FRIT Fol T2 5 (F)
T gem?

Options:
A 2_ .2
. F —‘JIP(TG 1; )

5 % F =?IP(TG4—T;4:JIHE

5 x F=2nPry(r,—1)

4 % F= 2Pr (0, — 1)

Question Number : 27 Question Id : 8797531434 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A closed coiled helical spring is subjected to axial load (W) and absorbs 100 Nm energy at 4cm compression. The value
of axial load will be:

Options:
; % 2.5KN

L

- % 10.0kN



Question Number : 27 Question Id : 8797531434 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U& HIA Ffod FEioer B9 9T 37efT SR (W) 3RIfE BFar mar 3k 97 4 9 & g9 W
100Nm F=T 3TM™T FIar g| 39277 a7 7 A 41 gem?

Options:

. % 2.5kN
> « 5.0kN
- 10.0kN
. % 12.5kN

Question Number : 28 Question Id : 8797531435 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Strain energy stored in a prismatic bar suspended from one end due to its own weight (elastic behavior) [ X =specific

weight of material. A =cross-sectional area. L= length of bar]:

Options:

xZA2L7
. % 6E
o A P

o % 6E
o . 1P

3 % 3E
A

4 6F

Question Number : 28 Question Id : 8797531435 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v far @ Fefeg BT 22 7 399 T99 & A(ITET H=RUT) FWUT HIgd FT F4T 2e?
[x=verr Fr fafire @R, A=3EEY FIT F 895, L= g3 # a8

Options:
G bl
. % 6E
U_x .
- %  6E
g I
e —



xed. 1P
| A ki

4 6F

Question Number : 29 Question Id : 8797531436 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
For an element in pure shear (—l—rm,) . the principal stresses will be given as:

Options:

| % g,,=0, T
5 T12= .

. x T12= +7,.,V2
4% T12= i‘rxyh’(Z

Question Number : 29 Question Id : 8797531436 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A HIFIUT (+7,,) I HIAT H HET Fiaaell 1 &8 Tod Thar STeam?

Options:
JLE — U, _:'_Tx}r

1 ®

5 v JLE = iTI;U

o % T12= ﬂxﬂfz
4 ® Ji,z — ifxyfwfz

Question Number : 30 Question Id : 8797531437 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not the unit of dynamic viscosity?

Options:

g e |
1 « Nm=/s-

oo
> % N-s/m-~
= % Pas

4 % Poise

Question Number : 30 Question Id : 8797531437 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
= 7 O Fia-0r e 1@F THar F sFE FAdr 27

Options:
1 NmZ/s2



5 ® N-s/m?2
= % Pa.s
4 % carat (Poise)

Question Number : 31 Question Id : 8797531438 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

For stable equilibrium. which of the following statement is true?
Options:
, = Centre of buoyancy is below centre of gravity for submerged body

> % Metacentre is below the centre of gravity for floating body

5  Metacentre is above the centre of gravity for floating body

, % Centre of buoyancy is coincide with centre of gravity for submerged body

Question Number : 31 Question Id : 8797531438 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 32 Question Id : 8797531439 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Magnitude of hydrostatic resultant force ( F ) acting on completely submerged plane surface is:

Options:
. (Equal to the pressure at centroid of surface) x (Area of surface)

o % (Higher than the pressure at centroid of surface) * (Area of surface)

2 % (Lower than the pressure at centroid of surface) * (Area of surface)

4 % (Atmospheric pressure) % (Area of surface)

Question Number : 32 Question Id : 8797531439 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 33 Question Id : 8797531440 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Linear momentum equation for steady flow with fixed control volume is given by [ Where, V : Velocity vector, i :
outward normal unit vector of area dA. F= forces on control volume]:

Options:

ZF - f pV(V.7)dA
2 cs

) ZF:f pV(V X f)dA
2.

cE

Zsz p(V X V).AdA
T W cE

. ZF:[ p(V.7)dA

CE

Question Number : 33 Question Id : 8797531440 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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[S1&T, V: 397 Bger, 4819 dA &7 SREE T8E=T 9 aieer, F= asor A1 | ae ]

Options:

ZF - f pV(V.7)dA
2 es

) ZF:I pV(V X f)dA
2.

cE

Zsz p(V X V).AdA
T CE

- ZF:f p(V.7)dA

cE

Question Number : 34 Question Id : 8797531441 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Under steady condition. equation of conservation of mass for a fixed control volume is given by [ V' : Velocity vector
and i :outward normal unit vector of area dA]
Options:

f p(V X A)dA =0
1 #® Jes

f pV(V.A)dA =0
o W CcE

f pV(V .V)dA =0
T W CcE

fp(lf’.ﬁ]dﬂz(]
4 & Jes

Question Number : 34 Question Id : 8797531441 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

far Trf &, e o saaa & B, gogaa & gvaer & gEwor @0 Beeaia @ wiaar g2
[V: 391 |fger (Velocity vector) 3T

n : &9 dA FT afgHw AT $H15 T (outward normal unit vector of area dA)]

Options:

f p(V X f)dA = 0
1 ® “es

f pV(V.A)dA =0
o W Jes

f pV(V . V)dA =0
T CcE

fg(V.ﬁ]dA:U
4. Jes

Question Number : 35 Question Id : 8797531442 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fluid velocity along a streamline is given by V' = (Vyxt)i . Its acceleration will be given by:
Options:

. Vox +Vgxt?

> R Vox

4 % Vox+Voxt?

Question Number : 35 Question Id : 8797531442 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



URGET & T T 997 F1 V = (Voxt)i a7 =Tad Fam Sar 2| 38+ 10T &1 58 =79 Far seem?
Options:
| Vox +Vgxt?

o % Vox

3 ® VDEE-E

4 % Vox +Vyxt?

Question Number : 36 Question Id : 8797531443 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Velocity potential (o):
Options:

, % 1s derived from conservation of mass principle

> o exists for irrotational flow
= % exists for rotational as well as irrotational flow
, % derived from conservation of momentum principle

Question Number : 36 Question Id : 8797531443 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
a1 FaT (0):

Options:
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Question Number : 37 Question Id : 8797531444 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Froude number is important for:
Options:
, % Unsteady flow

- x Compressible flow

5 « Free surface flow
4 % Viscous flow

Question Number : 37 Question Id : 8797531444 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Options:
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Question Number : 38 Question Id : 8797531445 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For fully developed turbulent flow though rough pipe at very large Reynolds numbers. friction factor is
Options:
, w» Dependent on Reynolds numbers only

-  Dependent on relative roughness of pipe only
5 » Independent of both Reynolds numbers and relative roughness of pipe

, % Dependent on density of fluid only

Question Number : 38 Question Id : 8797531445 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 39 Question Id : 8797531446 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Thickness of laminar boundary layer on flat plate:

Options:
. « Increases with increase in distance from leading edge

- % Decreases with increase in distance from leading edge
5 » Constant with increase in distance from leading edge

, % Increases with increase in Reynold number at given location



Question Number : 39 Question Id : 8797531446 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 40 Question Id : 8797531447 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T-T; = ; .
L = g~™* jg valid for:

Temperature distribution

TD B ir|II:»':II
Options:
, w Fin of finite length with insulated end

> % Fin of finite length with heat loss by convection at end

5  very long fins

, % Finof finite length with specified temperature at end

Question Number : 40 Question Id : 8797531447 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 41 Question Id : 8797531448 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Lumped heat capacity approach of transient heat conduction analysis is used:
Options:

i « When temperature variation throughout the body is very low

> % When temperature variation throughout the body is very high

5 % For bodies of very high conductive resistance



4 % For Biot number =10

Question Number : 41 Question Id : 8797531448 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 42 Question Id : 8797531449 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Convective heat transfer coefficient is a function of:
Options:

, w Nature of the fluid flow only

o ® Properties of fluid only

5 » Configuration of body only

4 + Nature of the fluid flow. properties of fluid and configuration of body

Question Number : 42 Question Id : 8797531449 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 43 Question Id : 8797531450 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Reynold’s analogy may expressed as:

(where. S, = Stanton Number, N, = Nusselt number, P. = Prandtl number,R, =
Reynolds number)

Options:



e u
R
N,P.

) ==

o W g
R.P.

(Sr]: N

T W u

Question Number : 43 Question Id : 8797531450 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
YAeE ERT F FH HHCHFd RAT AT AT 82 [, S, = Foeed HEAN, N, = =g¥Hec HEAT, B =915d
HET, R, = Ide8 HET 2]

Options:
N
(St] N
1 W RSP‘]"
N,P.
(S) =7
o W g
R,P.
E-S'tj = N
T W u

Question Number : 44 Question Id : 8797531451 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Combined natural and forced convection analysis is done only when ( G, = Grashof number and R, = Reynold
number]:

Options:

G,
0.1<—-5<10
1 ® He

Question Number : 44 Question Id : 8797531451 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

01{6"’::1{]
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G,
0.1<—L<10
o W Re

G,
0.1<—<10

Question Number : 45 Question Id : 8797531452 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not the regimes of pool boiling?

Options:
, w Natural convection boiling regime

> % Nucleate boiling regime

5 » Film boiling regime

4  Slug flow regime

Question Number : 45 Question Id : 8797531452 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 46 Question Id : 8797531453 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Effectiveness of heat exchanger 1s function of:
Options:

. « NTU and heat capacity ratio



> % NTU only

- » Heat capacity ratio only

, % Surface area of heat exchanger only

Question Number : 46 Question Id : 8797531453 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 47 Question Id : 8797531454 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If 5 radiation shields are placed between two parallel plates, therate
of radiation heat transfer is reduced to:
[e =1 forall surfaces]

Options:

1 % 1/4 times
> % 1/5 times
3 ' 1/6 times

4 % 1/10 times

Question Number : 47 Question Id : 8797531454 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 48 Question Id : 8797531455 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The device that produces network in a complete cycle by exchanging heat only with single thermal energy reservoir is
known as:

Options:

. % PMMI1
> « PMM2
= % PMMS3

4 % Heat pump

Question Number : 48 Question Id : 8797531455 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. % PMM1
> v PMM2
- » PMM3

4 % FAT 99

Question Number : 49 Question Id : 8797531456 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The law which provides the basis of temperature measurement is:

Options:
. « Zeroth law of thermodynamics

> % Firstlaw of thermodynamics
5 x Second law of thermodynamics

4 % Third law of thermodynamics

Question Number : 49 Question Id : 8797531456 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 50 Question Id : 8797531457 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Stirrer work supplied to liquid in insulating chamber increases its temperature from T; to T». The change in entropy of
universe will be:
[Where, C,, = specific heat of liquid]
Options:
1 ® Zero
IF

Cp In T_

2 1

% Negative

Clﬂ
n_
Y Ee = TE

=

Question Number : 50 Question Id : 8797531457 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 51 Question Id : 8797531458 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Pressure of steady and adiabatic flow of an ideal gas through pipe is reduced from P; to P». Its irreversibility/ unit mass
flow rate is given by:

[where, Ty = environment temperature]

Options:

Py

T,RIn—

1. ¢ £

P,

T,RIn—=

o W 'Pl

P, —P

nﬁmfi—i)
T W PE

TRL( i )
n—
4 % * Pl_PE



Question Number : 51 Question Id : 8797531458 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 52 Question Id : 8797531459 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The slope of constant pressure curve on enthalpy-entropy diagram gives:
Options:

| % Entropy

> % Specific volume
-  Absolute temperature

, % Density

Question Number : 52 Question Id : 8797531459 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 53 Question Id : 8797531460 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A pipe carrying steam (h= 3000kJ/kg) at flow rate of 1 kg/s and another pipe camrying steam (h= 2500kJ/kg) at flow rate
of 2 kg/s mixes adiabatically to flow in single pipe. Find the enthalpy of resulting steam:

Options:

1 % 8000 kJ/kg



, « 2667 kl/kg
. x 2767 ki/kg
, % 2867 kl/kg

Question Number : 53 Question Id : 8797531460 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1 B=m./ass & 9918 a7 #T a7 Ig7 F T T2 (h= 3000kJ/kg) S I 36T 2 FEn/ass &
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Options:

| % 8000 kJ/kg
.« 2667 kJ/kg
. % 2767 kJ/kg
, x 2867 kJ/kg

Question Number : 54 Question Id : 8797531461 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Region inside the inversion curve is represented by;
[where u is Joule — Kelvin coefficient]
Options:
L Cooling region, p=0

- % Cooling region, p<0
5 x Heating region. <0

, % Heating region. u=0

Question Number : 54 Question Id : 8797531461 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| v aea &, p>0
o w e &9, p<0
- x amae &7, u<0

4 x e &1, >0

Question Number : 55 Question Id : 8797531462 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Thermal efficiency of otto cycle can be represented by 1,4 = 1 — ;—“ . Which of the following statement is correct for
state point @ and b? .

Options:
, % Isentropic compression process will start from point ‘b’

> % Isentropiccompression process will end at point ‘a”

-  Constant volume heat addition process will start from ‘b’

, % Constant volume heat rejection process will end at point b”

Question Number : 55 Question Id : 8797531462 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 56 Question Id : 8797531463 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If stroke volume of engine = 300 ce. clearance volume of engine = 20 cc. The compression ratio of engine will be:

Options:
1 *® 15
o 16
T W 14

4 ® 17

Question Number : 56 Question Id : 8797531463 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ifg g5 T Tele HIaa= 300 ce, 9 #1 RS HAEA=20 cc g, @ §a F HAST Hedra 4T
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Options:

;1 % 15
o v 16
z % 14
4 % 17




Question Number : 57 Question Id : 8797531464 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Swept volume of engine may be written as:

Options:
1 % Volume of cylinder at BDC (Vppc)

. % Volume of cylinder at TDC (Vpc)
3 « VBDC - VIDC
4 % VBDCTVIDC

Question Number : 57 Question Id : 8797531464 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
EF & TG IS F A W ST FeheT 87

Options:

. » BDC w¥ f&fesT # 3maas (Vepe)
, « TDC ¥ fafarst & sma= (Vine)

s v VBDC - VTDC
4 % VBDC * VTDC

Question Number : 58 Question Id : 8797531465 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If ip — indicated power. bp —brake power. fp —frictional power. Which of the following statement is true for IC
engines:

Options:

, » Ip=bp

5 % P <bp

5 % P <fp

4. % fp=1p + bp

Question Number : 58 Question Id : 8797531465 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g ip—FaF ATFA, bp—FF ufFd, fo—Tu0T ofFF &, A IC 371 ¥ fov foa & ¥ Fa-a/a w7
T B2

Options:

v P> bp
5 % Ip < bp
- x Ip<fp



4 % TP =1p + bp

Question Number : 59 Question Id : 8797531466 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Af constant condenser pressure, reduction in evaporator pressure of vapor compression refrigeration cycle does not lead
to:

Options:
, w Increase in specific volume of suction vapor

> % Decrease in refrigeration effect
5  Decrease in specific compressor work

, % Decrease in evaporation temperature

Question Number : 59 Question Id : 8797531466 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 60 Question Id : 8797531467 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HP/TR of refrigeration system is:

Options:

, w Directly proportional to the COP of refrigeration system

-  nversely proportional to the COP of refrigeration system

- » Independent of COP of refrigeration system

4 % 1T{COP of refrigeration system}

Question Number : 60 Question Id : 8797531467 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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- Tefieet &5 % COP & Fad & &

, « 1+{FfaaT a7 &1 COP)

Question Number : 61 Question Id : 8797531468 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not tiue for reverse Brayton cycle?

Options:
. w Ithas very low COP relative to vapor compression cycle

> % It consists of two constant pressure process and fwo isentropic process
5 » IU's working fluid is generally ecofriendly

4 Heat transfer in evaporator is at constant temperature

Question Number : 61 Question Id : 8797531468 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 62 Question Id : 8797531469 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not true for heat pump?

Options:
| « Low temperature reservoir is conditioned space

- % Low temperature reservoir is environment
- » Work done is negative

4 % Itisacyclic device

Question Number : 62 Question Id : 8797531469 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FSAT 99 & O T # ¥ #i9-97 39 97 767 87
Options:

FH ATHA & AT Hepiodars gar &

1.9



L « H TITH F ST TAEOT BT §
o w [RAT AT FE AFRCHF BT 8
, % TE TF TR 3907 &

Question Number : 63 Question Id : 8797531470 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sensible heating/cooling process on psychrometric chart is:

Options:

, « Along constant specific humidity line
> % Along constant relative humidity line
5 » Along constant specific volume line

, % Along constant enthalpy line

Question Number : 63 Question Id : 8797531470 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

WEFAEH (psychrometric)aTe X Waey am=/ ofidea Iishar:
Options:

| v Faa BT amar Yar F |WEg g g

o % Tad WA ITear 3@ & SIEg g §

. » Fad fafere soas Y@ F e g

, « Had TeA (enthalpy) ¥@T & &= g §

Question Number : 64 Question Id : 8797531471 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If sensible and latent heating transfer in an air conditioning process is 2.5kW and 1.5 kKW respectively. Then sensible
heat factor (SHF) will be:

Options:
1 & 0.5

o W 1
3 « 0.625

4 % Zero

Question Number : 64 Question Id : 8797531471 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofE et araregper 9fsRar F WaeT AR I[cd FAT HATOT FAM: 25 kW R 1.5kW B, dF HIGT FEAT
Fh (SHF) =7 gem?

Options:



1 *® 0.5
2_231

- v 0.625

4% W

Question Number : 65 Question Id : 8797531472 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Sensible heat factor (SHF) line is inclined at an angle of 45° with temperature axis on psychrometric chart. It's SHF will
be:

Options:
1 % 0.59

> % 0.49
5 % 0.39
4« 029

Question Number : 65 Question Id : 8797531472 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TIeT FHT FeF (SHF) 3@ TShiafes (psychrometric) =T 9¥ ST9HTT 3787 & T 45° & HI0T

AT 2| SHer SHF T grem?

Options:

. % 059
. % 0.49
. = 0.39
L v 029

Question Number : 66 Question Id : 8797531473 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is recommended for refrigeration of supersonic aircraft?

Options:
, % Simple system

-, % DBootstrap system
- % Regenerative system

4  Reduced ambient system

Question Number : 66 Question Id : 8797531473 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
wreafas agae & weias & v & # ¥ Faer g3 fear s 82

Options:



1 % T JUTe

2 ® a@:%q‘;lvnﬁr

- AT FOTe
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Question Number : 67 Question Id : 8797531474 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is lowest specific speed turbine?

Options:
, « Pelton wheel with single jet

> % Pelton wheel with double jet

= % Francis turbine

, % Kaplan turbine

Question Number : 67 Question Id : 8797531474 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e & & Fia-8 ana ' Fgaa Rftce @ cEEa B2
Options:

| U S Tl Yoo gfgar

., % G SI€ el Yoo qigdrn

S_Qmﬁﬂmﬁﬁ
. w IO TETSA

Question Number : 68 Question Id : 8797531475 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following statements is correct for pelton wheel (where. Vw = whirl velocity at inlet tip of bucket. V =

absolute velocity of jet before striking of bucket. u = absolute velocity of bucket)?
Options:

1« Vw=V

> u Mw=V-u

z % Vlw=V+u

4 % Vw=u

Question Number : 68 Question Id : 8797531475 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Yo 9fed & T A 7 ¥ Fla-ar FuF 77 § [F@T Vyy = (bucket) & war Y X goiE 9 g,
V =gF2(bucket) F TER ¥ Ug ST FT WH I, u = §F (bucket) F T 37 §]?

Options:

L v VWV

5 % Yw=V -u

Question Number : 69 Question Id : 8797531476 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the turbines is axial flow turbine?
Options:

1 % Pelton wheel

- % Francis turbine

-  Kaplan turbine

4 % All reaction turbines

Question Number : 69 Question Id : 8797531476 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FIA-Ur TTEEA 3T Ja9g TE=T &7

Options:

1 #® mm

o » IO &S
L FICO TTEATSA
. Tl giafhar TXamsa

Question Number : 70 Question Id : 8797531477 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The function of fixed blades on reaction turbine is to:

Options:

, « Alter the direction of steam and expand it to higher velocity

> % Alter the direction of steam and increase its pressure

5 x Alter the direction of steam and decrease its velocity

, % Only to alter the direction of steam

Question Number : 70 Question Id : 8797531477 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



gfaferar a9 T =
Options:

| v a7 F feer oREfde & 38 359 39 ¥ 9@ #ar §
, « ST Fr feer qREfda FF 3T o qAr #

o« AT Fr fer ofEfda F3F 38 39 gerr §

., « haa arq & fer 9iafda & §

Question Number : 71 Question Id : 8797531478 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Power developed per unit mass flow rate of steam by an stage of impulse turbine is 60 K'W. The velocity of steam from
nozzle is 400 m/s. Diagram efficiency will be:

Options:
1 ® 065%

o w 7504
= ® 85%
4 % 95%

Question Number : 71 Question Id : 8797531478 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T ST F U =ROT SaRT I i G S GedH T 9918 &X 9 60KW ufFa T giar £
AlSTer & 9T ST 397 400m/s g HWT ge7ar =41 g

Options:

| % 65%
5 v 75%
2 % 85%
L % 95%

Question Number : 72 Question Id : 8797531479 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ability of the material to absorb energy before fracture is known as:

Options:
1 % Hardness

-  Toughness

z % Cold shortness
, % Ductility

Question Number : 72 Question Id : 8797531479 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



HTe? § U 9STY ZART FaAr M FT & aTHAT T FAT F@l 1T 872
Options:
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Question Number : 73 Question Id : 8797531480 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the steel is best candidate for heat treatment?
Options:

1 % Low carbon steel

> of High carbon steel
- » Low and high carbon steel

4 % Low and medium carbon steel

Question Number : 73 Question Id : 8797531480 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FSAT 3997 F T FiF-97 sT99 ¥E9g 9897 24T 27

Options:

| % 3T FES TEA
, » HTEFHEA T
L« Ho9 3R HAFES 3T

, x o9 AT FeUR FES sEd

Question Number : 74 Question Id : 8797531481 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Low carbon steel:
Options:

, « has lower tensile strength relative to high carbon steel

- % 1is harder than high carbon steel
5 % 1s ideal steel for heat treatment
, % has carbon percentage upto 1.5%

Question Number : 74 Question Id : 8797531481 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



HoT FET ST
Options:

lgﬁﬁ'ﬁlﬂﬂﬁﬂmﬁgﬁmﬁmﬂ I TTHT BT §
, x HOEES FENT & FIW BT 8

5 % F°A 39T &F o7 HEe sEaa BT 7
. w HIE 9TIeT 1.5% T BT §

Question Number : 75 Question Id : 8797531482 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not true for Ferrite?

Options:
1 % Itissoft

> % It is ductile
= % It has BCC structure
4 « Solubility of carbon in Ferrite is very high at room temperature

Question Number : 75 Question Id : 8797531482 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
WET F v s # ¥ #i9-97 Fu9 I 7 787 27

Options:

 x TEAGEAE

o x TE aF BT §

. » |t THF BCC wwaT 2 ¥

FAL F TIH WWﬁmﬁﬁﬁmE@mﬁﬁﬁ

4 &

Question Number : 76 Question Id : 8797531483 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Formation of Ferrite and Cementite from Austenite takes place at:
Options:
, % Temperature =723° C, carbon composition = 2%

- % Temperature =1130° C. carbon composition = 0.8%
5  Temperature = 723° C. carbon composition = 0.8%
, % Temperature =1130° C. carbon composition =4.3%

Question Number : 76 Question Id : 8797531483 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Hrearse ¥ wWrse AT diAweee & FAUT F BT ags &
Options:

| % ATIEA= 723°C, FESA TIEAT = 2%

. » AIHAEF= 1130°C, FEd =T = 0.8%
-  dT9HEE= 723°C, FE = = 0.8%
., % AHAE= 1130°C, FEd T=AT = 4.3%

Question Number : 77 Question Id : 8797531484 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of element on tool signature of ASA system are:

Options:
1. % 5

2%-35
2 v 7
4 % 8

Question Number : 77 Question Id : 8797531484 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

UUHT UMl & =Eds 3907 97 acd &0 T&EaT ¢
Options:

13.35

2-‘»35

z & 7
4 % 8

Question Number : 78 Question Id : 8797531485 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If in a machining operation. cutting speed is reduced to 80%, then increase in tool life will be:

[ In Taylor equation. n=0.5]
Options:

1 % 46%

> o 56%

= % 66%

4. e T[}ﬂ/{)

Question Number : 78 Question Id : 8797531485 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



ofg vk FMET 9T H, Fea Fr Ta 80% T FH FT & AT &, ar IIHI0T & Hae el H
et gfe gRfr? [¢or §HRUT A, n= 0.5]

Options:

| % 46%
> v 56%
- % 66%
L % 70%

Question Number : 79 Question Id : 8797531486 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If a steel is designated as C80. which of the following statement is correct for it?

Options:
C = plain carbon steel
1 ® 80=380% Iron

C = plain carbon steel
> « 80 = 0.8% carbon

C =tool steel
=z % 80=0.8% carbon

C = tool steel
4 #% 80 =30% Iron

Question Number : 79 Question Id : 8797531486 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I vF HIa C80 & T H fAafese 1 7 & o afoi@a # ¥ Fi9 @1 T T 87

Options:

C = OHJ FE Ferer
. % 80 = 80% T

C = HAdT Fed Frid
- v 80 = 0.8% TR

C = 39HIUT i
. % 80 = 0.8% MR
C = 3IY0T BT
, % 80 = 80% TN

Question Number : 80 Question Id : 8797531487 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Universal rolling mill contains:

Options:



1 % Horizontal rolls

> % Vertical rolls

= + Both Horizontal and vertical rolls
4 % Norolls

Question Number : 80 Question Id : 8797531487 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ifaaaa Aferer & & oafFa g &
Options:

1 & ﬁ%ﬁ?ﬂﬁ'
o W ':"?-T:ISI'%}TW

4 IS T TG

Question Number : 81 Question Id : 8797531488 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is correct for cold working?

Options:
, « Itincreases strength and hardness better than hot working

> % Poor surface finish is obtained

5 x Poor dimensional accuracy

, % Material loss is very high

Question Number : 81 Question Id : 8797531488 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ez afeheT & forv AeaAT@d & & Hid a1 TEr g2

Options:

1wﬁgﬁ?m3ﬁ'%ﬁﬁﬁlﬁ'dlﬂﬁdﬁﬂﬂéﬂdlﬂ-ﬁmﬁl

., % Tdg & TE ferer g g g
5 x TUF FTIET T

T S Frfe aga AT B
4 *®

Question Number : 82 Question Id : 8797531489 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In ECM(Electro Chemical Machining):

Options:



, % Toolwear is high

-  Tool material is conductor of electricity

= % Surface finish is bad

, % Asthe cutting forces are very high. thin section of work piece cannot be machined

Question Number : 82 Question Id : 8797531489 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SHITH (Soieel iaed JAffaeT) &
Options:

3THI0T HAF e 2

39RO FH TGy g # gAeh gl

1 %

2

. » Tdg @ iFer e g gl

4 ®

wﬁmmmaﬁmtwﬁvmﬁg#mmﬁmﬁﬁﬂﬂﬁﬁmm%l

Question Number : 83 Question Id : 8797531490 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is incorrect for Ultrasonic machining?
Options:
, % Toolvibrates with very high frequency

- % Vvery low material removal rate

= « Abrasive are not used
4 % Tool is made of ductile material

Question Number : 83 Question Id : 8797531490 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frafof@a § ¥ #ia a1 secaifas meifEr & B odr 78 82
Options:

3TN g e Hgfed & Y FI FIA g

1%

- mmﬁra@ma
. IO IR 74 BT e

. % 3T AHAT TEIT H FAT &

Question Number : 84 Question Id : 8797531491 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Which of the following is incorrect for plasma arc machining?
Options:

, w All electrically conducting materials can be machined

- % Power supply with approximate range of voltage 50 — 200V

5 % Power supply with approximate range of current 100 — 600 amp

4  Temperature generated approximately upto 1000°C

Question Number : 84 Question Id : 8797531491 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TaffRa # ° Fiagr car=ar 3= i & T 58 7387 82
Options:

- wefr g w=nfora |l it Jffeer i a1 F@dr g
Ly TS #T AT WA % | R¥ega amafa 50 - 200 V gl
. [HETT YR E AT WA & Ao fFegT mfa 100 - 600 amp #

. v 3cdesT AT9ATA e 1000°C JeF 2T £

Question Number : 85 Question Id : 8797531492 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What will be step ratio of headstock spindle for a lathe machine of following data?
Maximum speed = 2100 rev/min

Minimum speed = 70 rev/min

No. of speeds = 21

Options:
L (30)1/19

. o (30)120
. (o)1

i i |
L x B0V

Question Number : 85 Question Id : 8797531492 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frafaf@a e areh vs we 7efld & fAv gswels gl &1 &9 HgIa a1 grRm?
HiFaw 71t = 2100 rev/imin

H@W“‘I‘ﬁ-‘f = 70 rev/min

aifaar & TE = 21

Options:




. ® (30}11"19

- (30)11"2‘0

_— (30)11’21

L% (30)11"22

Question Number : 86 Question Id : 8797531493 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A slot is to be milled by a side and face milling cutter with 12 teeth and 100 mm diameter. Feed rate is 0.2 mm/tooth
and cutting speed is 100 rpm. Table feed will be:

Options:
1« 240 mm/min

> % 600 mm/min
5 % 260 mm/min

4 % 300 mm/min

Question Number : 86 Question Id : 8797531493 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T T # 12 gF AR 100 FHET e e v WEw A’ GE AR Few g@nr Fer A6 g1 BE &
0.2 Y / gra § 3R Fes @ a1fy 100 rpm 21 9er B &

Options:

| v 240 REHMEe
., = 600 fAf/fAee
- » 260 fE/fAee
., = 300 FeifAee

Question Number : 87 Question Id : 8797531494 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is true for grinding wheel?
Options:

, « Grade of grinding wheel is related to its hardness

> % Soft grinding wheel is used to grind the soft steel

5 % Hard grinding wheel is used to grind hard steel

4 % ‘A’ denotes the hardest abrasive wheel

Question Number : 87 Question Id : 8797531494 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ol & FiF a1 Il oy & e @@ 2



Options:

| TR afgd & Aoht gl Ferar @ wefeT

L« AF IS 9l F1 39T 77 T & AMES Fa F v Far smar g

. » TET TERE afgd # 3uEe gEd Wi # anE = § e G amEr g
, » ‘AFRTH fFesolir afgd = gofar 2

Question Number : 88 Question Id : 8797531495 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A cylindrical cup of circular cross section of 50mm diameter and 60mm height with comer radius of 2.5mm is to be
made of 0.5mm thick sheet of steel. Its blank diameter (approximately) will be:

Options:
1 « 120 mm

- #% 140 mm
=z % 160 mm
4 % 180 mm

Question Number : 88 Question Id : 8797531495 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
U FAHR F9, [0S Jeadig FGIET o F7 @mw 50 A R 2.5 B Few e & wy I
60 Hrr &, & = Fr 0.5 A A TIET ¥ g9 FET g1 THA NFF S@H (TR e

Options:

| v 120 fEe
o = 140 B
- = 160 =
. = 180 B

Question Number : 89 Question Id : 8797531496 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Due to the shake allowance:

Options:

, w The pattern is made slightly bigger than required size

> % The taper is provided on vertical faces of pattern
- « The pattern is made slightly smaller than required size

, % The fillets are provided on pattern

Question Number : 89 Question Id : 8797531496 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 90 Question Id : 8797531497 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The property of moulding sand which does not provide any resistance to contraction of the solidified casting is called?

Options:

, % Permeability

- % Adhesiveness
= % Refractoriness
4 « Collapsibility

Question Number : 90 Question Id : 8797531497 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FIIST T F FWROT Alfe=T I H AR H FAT 7T F 0T H1 Fgl AT g

Options:
1 # qTLaEad

o W 3-1?1:@&7:!?!'9'
T W Q‘ﬁw‘w’?ﬁﬁl’ﬂ
4 PTG

Question Number : 91 Question Id : 8797531498 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is not the casting defect?

Options:
1 ®% Run out

- % DBlow holes
= % Hot tears
4  Stop-off

Question Number : 91 Question Id : 8797531498 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 92 Question Id : 8797531499 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If a cube of 100 mm dimension is to be made of Aluminium (shrinkage allowance = 10 mm/m). What will be the
dimension of wooden pattern? Assume only shrinkage allowance.

Options:
1 % 102mm * 101mm =100mm

- % 100mm = 99mm * 98mm
=z % 99mm x 99mm x 99mm
4+ 101lmm = 101lmm * 101mm

Question Number : 92 Question Id : 8797531499 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
100 &+ 3mams &1 vs oe vegfAfaas (WeEe A = 10 ) & samr S &) awd &
YTy T ITATH FAT E9M? 9o Tehia HegHIeA Al oA

Options:

% 102f x 10153 x 1003
. » 100f&r x 9ofFsr x 9sfR=h
- » 99FFET x 99fsh x 99fR=T
L v 10173 x 1017 x 101%sh

Question Number : 93 Question Id : 8797531500 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Chills are:

Options:

, % Metallic objects to provide very low heat extraction capability of sand mould
- % Metallic objects to provide strength of sand mould

-  Metallic objects to provide very high heat extraction capability of sand mould

4 % Mixed in sand to enhance its collapsibility

Question Number : 93 Question Id : 8797531500 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Options:
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Question Number : 94 Question Id : 8797531501 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TIG welding:

Options:

1 % Uses consumable electrode

> % Usesno inert gas for shielding

- w Is aresistance welding process

4  Uses electrode of high current carrying capacity

Question Number : 94 Question Id : 8797531501 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

EIHTESN AfoseT:

Options:
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Question Number : 95 Question Id : 8797531502 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In resistance welding:

Options:
, % Low voltage with low current is passed for very short time

> % Low voltage with low current is passed for long time
5  Low voltage with high current is passed for very short time

, % High voltage with very low current is passed for very short time



Question Number : 95 Question Id : 8797531502 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
gferrer afeser &

S N o O
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Question Number : 96 Question Id : 8797531503 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Projection welding. Upset welding are the examples of:
Options:
| « Resistance welding

- % Gas welding

5 % Arc welding
, % Hydrogen welding

Question Number : 96 Question Id : 8797531503 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Options:
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Question Number : 97 Question Id : 8797531504 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Porosity in welding:

Options:

, % 1s created due to cold cracking

-  1s created due to presence of Hj in the weld pool

5 % causesincreaseinstrengthof joint



, % 1s created due to lamellar tearing

Question Number : 97 Question Id : 8797531504 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o= 7 B
Options:
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Question Number : 98 Question Id : 8797531505 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a true statement for CNC system?

Options:
,  Reprogramming in CNC is more difficult than NC system

-, % Program to manufacture a component can be easily called in CNC relative to NC machine

- % CNC machine has self-diagnostic features

, % Operation of CNC machine is very easy relative to NC machine

Question Number : 98 Question Id : 8797531505 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 99 Question Id : 8797531506 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Adaptive control feature is used:
Options:

1 +« For automation



-~ % Forinventory control

- % Only to give better surface finish to the components

4 % Only to reduce power consumed by machine

Question Number : 99 Question Id : 8797531506 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HeJFo! AT FHeaas Ferwar & 39T R s
Options:
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o % FACU wg & T

. % ae HZHl F foIlT 9k FAg Thiaer 9o el & o

, « P TAIA AR @I T T el [l F F7 4 F o0

Question Number : 100 Question Id : 8797531507 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the step of “‘operator controlled machine toel™ and “NC machine tool™ is similar?
Options:
, « Component drawing

- % Programming
% % Control unit

, % Recording on the tape

Question Number : 100 Question Id : 8797531507 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘e Al e 3gaor 3t “oadr #fe I9a0r & FiF ¥ =T GAT 27
Options:
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Question Number : 101 Question Id : 8797531508 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is incorrect?

Options:



, % CNC machine has higher flexibility in comparison to NC machine
-~ % CNC machine can diagnose program
5 % Datareading error in CNC machine is low in comparison to NC machine

4 « Conversion of units in CNC machine is not possible

Question Number : 101 Question Id : 8797531508 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TatRa #7 9 #ia ar a9 &2

Options:
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Question Number : 102 Question Id : 8797531509 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is not the actuation system of NC machine tool?
Options:

,  Contour system

> % Hydraulic system

- » Electromechanical system

, % Pneumatic system

Question Number : 102 Question Id : 8797531509 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

o # ¥ 9 & vadr AT 3907 7 999 JUmelr Jar 27

Options:
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Question Number : 103 Question 1d : 8797531510 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Find the expected time of an activity with pessimistic time ( £, ) = 14 days. Most likely time (Z,, ) = 8 days, Optimistic
time ( t, ) = 2 days.

Options:

1 ® 6

—

2_23.-’
3. ¢ 8
4 % 9

Question Number : 103 Question Id : 8797531510 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U AT T T FHY T4T FNC AT v e @m () = 14 GF, wEw w#ioe gatea
AT (ty) = 8 &, 3mmEEr §97 (t,) = 2 o7 2

Options:

1 % B
5 % 7
3¢ 8
4 % 9

Question Number : 104 Question Id : 8797531511 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In ‘4BC"’ analysis of inventory control. 4 "stands for:
Options:

, « High valued and small number of items

> % Low valued and small number of items

- » High valued and maximum number of items

4 % Medium valued and medium number of items

Question Number : 104 Question Id : 8797531511 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

S9iT el & ‘ABC’ fIeomur H, A FT HT &

Options:
| o T F I T AR wE wE

, x TE FFH TT AR FA wEA

. x TR F 3 Hqpd AR HOE wEm

, x TRl F ACIH TeA AR ACIH FE&A

Question Number : 105 Question Id ;: 8797531512 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
What will be economic order quantity for an item with annual usage of 50 units. procurement cost is Rs. 10 per order.
cost of one piece is Rs. 100 and cost of carry inventory per year is 10%?

Options:
1 # 8

o W 0
= o 10
4 #® 11

Question Number : 105 Question Id : 8797531512 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U FE] TorHeR dIfte 39U 50 $s &, Wil aFTa 10 T 9fS I §, Jedw A H Hod 100 T
7 3R 9foas o= S s & A 10% &, & v Srwdr st fr @ F g@ehe

Options:

1_238-
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g W 11

Question Number : 106 Question Id : 8797531513 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will be the value of z = 3x + 4y for the following constraints?

2x+y =8, x+2y=20, 240

Options:
. % 210

> % 220
z % 200
4 ¢ NO possible solution

Question Number : 106 Question Id : 8797531513 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fafof@a aregarst & T z = 3x + 4 &7 A F47 grem?
2x+y<8 x+2y=20,x>0,y>0

Options:

;% 210
. % 220
- % 200

. v FIE THT FF AL L



Question Number : 107 Question Id : 8797531514 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Variance of an activity may be written as:

(where. £, = pessimistic time. {, = optimistic time)

Options:

s

%)
O
%)

3. 6

(rp —ta)lfz
4 ® 12

Question Number : 107 Question Id : 8797531514 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TH AAETY F FEOT H e 7 & T a1 wear ¢ [T, py=TEh 897, ty=anEEr g5 &

Options:

1
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2
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Question Number : 108 Question Id : 8797531515 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ideal gas equation may be written as[ where. P = absolute pressure. v = specific volume. R = characteristic gas

constant. T = absolute temperature. m = mass of gas. n = number of moles of gas,
£ = compressibility factor ]:

Options:

1« Pv=RT

> % Pv=mRT

3 # Pv=nRT



4 % Pv=ZRT

Question Number : 108 Question Id : 8797531515 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
¥ I wHeeT  AeA w9 A O 31 mear & [ T, P=fAdey e v=Rferee @, R= B
HE & 0T, T=TA9ET a9AE, M= F FAE, n=IH & Al H BEAT, ZSHISAAT HHH):

Options:

1 v Pv=RT

- % P v=mRT
= % P v=nRT
4 % Pv=ZRT

Question Number : 109 Question Id ;: 8797531516 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is correct statement for ‘Energy(E)’?

Options:

, » ' Energy(E)"is path function
jg dE =0

2

- % ‘Energy (E)” is not the property of system
, % Change in energy between two states of a system is different for different path followed

Question Number : 109 Question Id : 8797531516 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘FaT (E) & for R=afef@a # 9 #i9 a1 &7 @dr 272

Options:

% ‘FaAT (E) 9 B gl
jng =4

2

‘AT (E) JOTRT & 0T A& g

3
4 #
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Question Number : 110 Question Id : 8797531517 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1 kg liquid (specific heat= 3.0 kJ/kg-K) is stirred in closed chamber and its temperature is raised by 109C. Heat loss to
the surrounding is 3.0 kJ. The work done on the water during the process will be:

Options:



1 % 30KkJ
o> % 27KJ
3 o 33KJ
4 % 306KJ

Question Number : 110 Question Id : 8797531517 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
1 e g7 (Afese F=a1= 3.0 kJkg-K) 3¢ Fa7 & fEomam sar § 3R g9 s+ F 10°C #r giF &
AT &1 FETEIT F FEAT A @l 3.0 kd g1 9ar & e 9 9x e T s g

Options:

. % 30kJ
5 % 27kJ
-« 33kJ
. % 36kJ

Question Number : 111 Question Id : 8797531518 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the followings is correct statement?

Options:

, w Energy always destroyed during the real process
-  Energy always degrades during the real process
5 % Entropy of isolated system always decreases

, % Heat transfer through a finite temperature difference is reversible process

Question Number : 111 Question Id : 8797531518 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TaefRa # 9 =9 o #a9 5 72

Options:
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Question Number : 112 Question Id : 8797531519 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Generalized compressibility chart is drawn between:

Options:



, % Compressibility factor(Z) on x-axis and reduced pressure(P;) on y-axis

- % Compressibility factor(Z) on y-axis and reduced temperature (T;) on x-axis

5 % Reduced pressure(P;) on y-axis and reduced temperature (T;) on x-axis

4  Compressibility factor(Z) on y-axis and reduced pressure(P;) on x-axis

Question Number : 112 Question Id : 8797531519 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HHAEHT FIEIAT Te hae &9 daR R ST g2

Options:
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Question Number : 113 Question Id ;: 8797531520 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is true statement for phase diagram of pure substance?

Options:
, » Extreme points of fusion curve are triple point and critical point

-  Extreme points of vaporization curve are triple point and critical point

5 x Sublimation curve. fusion curve and vaporization curve meets at critical point

, % Fusion curve for water has positive slope

Question Number : 113 Question Id : 8797531520 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e & @ &l &1 o= 92 & =T amw & v w6 w2

Options:
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Question Number : 114 Question Id ;: 8797531521 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
If the pressure of steam at the exhaust from the turbine is saturated corresponding to the temperature of process heat
requirement. then this turbine is known as:

Options:
, « Back pressure turbine

> % Pass out turbine

- » Impulse turbine

4 % Reaction turbine

Question Number : 114 Question Id : 8797531521 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e e & @E W AT gaE SR & BT 3aedd F5AT F aNA ST Hed gl @ ar 39
=T 1 FE T H AT A7 27

Options:
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Question Number : 115 Question Id : 8797531522 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is correct statement for local heat transfer coefficient variation in boundary layer along
isothermal plate?
Options:
1. %
Local heat transfer coefficient decreases in flow direction for laminar flow and increases in flow direction for fully
developed turbulent flow
2 ®
Local heat transfer coetficient increases in flow direction for laminar flow and decreases in flow direction for fully
developed turbulent flow
3 v
Local heat transfer coefficient decreases in flow direction for laminar flow and decreases in flow direction for fully
developed turbulent flow

E
Local heat transfer coefficient increases in flow direction for laminar flow and increases in flow direction for fully
developed turbulent flow

Question Number : 115 Question Id : 8797531522 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T=ofea § ¥ Fi9 O Fa9 89T i & 1T 9EAT Wa § T FSAT TAHE0T & &=or
¥ T & BT wr §

Options:
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Question Number : 116 Question Id : 8797531523 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Nucleate boiling regime is formed approximately between
[A T excess = excess temperature]

Options:

L % SO 2 AT, 20V

o o DCE AT peess <50°C

5 % 50°C < AT,,..... <80°C
, % 80°C<AT,, . <100°C

Question Number : 116 Question Id : 8797531523 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AfHF Iae Fr cgaE s & a9 T 87
[A Tsmnes = AN TT9AE]:

Options:

| w 5C= ATympe <10°C

. o 5CS AType, <30°C

. % 307C < ATyppes < 60°C

, % 607C < ATympe < 100°C

Question Number : 117 Question Id : 8797531524 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is true?

Options:



1. %
Heat transfer coefficient in dropwise condensation is very low in comparison to filmwise condensation

-  Dropwise condensation cannot be easily sustained for prolonged period of time

- w Filmwise condensation is preferred over dropwise condensation on heat transfer surface

E
Dropwise condensation required very high surface area of heat exchanger relative to filmwise condensation

Question Number : 117 Question Id : 8797531524 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
eateT & & i a1 =@ 27
Options:
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Question Number : 118 Question Id : 8797531525 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Thermal radiation includes:

Options:

1 % Entire visible radiation and entire infrared radiation

- % Some portion of visible radiation and entire infrared radiation
5  Entire visible radiation. entire infrared radiation and some portion of UV radiation

4 ® Entire visible radiation. entire infrared radiation and entire UV radiation

Question Number : 118 Question Id : 8797531525 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ardr fafevor 7 onfaer &
Options:
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Question Number : 119 Question Id : 8797531526 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following statement is incorrect about thermoplastic polymer?

Options:
, % These are linear or branched linear polymers

> % Poly vinyl chloride(PVC) is an example of thermoplastic polymer
5  They cannot be repeatedly soften under heating and harden on cooling

, % They can be reshaped and recycled

Question Number : 119 Question Id : 8797531526 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fafo@T Fuat # @ i a1 y#fcanies LGSR F I H TEr 2
Options:
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Question Number : 120 Question Id : 8797531527 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following processing techniques does not produce continuous product?

Options:
1 % Extrusion

-  Injection molding

= % Pultrusion
, % Calendaring

Question Number : 120 Question Id : 8797531527 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 121 Question Id : 8797531528 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Determine the nature of force in member 4B and .AC respectively of the truss shown in figure. A4 is hinge support and B
is roller support. The direction of reaction at supports (Ra and Rg) is also shown. Load 50 N is acting at joint C.

Ra Rr
Options:
, w Tensile, Tensile
- x Compression, Compression
-  Tensile. Compression

, % Compression, Tensile

Question Number : 121 Question Id : 8797531528 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HFTT # fT@T 7 Fua F &ET AB AR AC ® 9 fT vy it = A R g & 3@k B I
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Options:
1 % deddl, dedddl

5 % Ff@?—!‘,'ﬂ'tﬁ?.?
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Question Number : 122 Question Id : 8797531529 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A beam is subjected to a force system shown in figure. This force system can be reduced to:

Fai= 50N Fg=100N Fc=25N Fp= 235N
B C
A D
Options:

, » Asingle force of 50 N(downward) at 2.5 m from D

o A single force of 50 N(downward) at 2.5 m from A

- % Asingle force of 50 N(upward) at 2.5 m from A

4 % Asingle force of 50 N(upward) at 2.5 m from D

Question Number : 122 Question Id : 8797531529 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U A7 WS F TEs e v ao gonel @ TEOT g1 §9 g JUmel # hder F7 FAr S WA

Fa=530N Fg=100N Fe=25N Fp=25N

< >4 a >

Im Im 1m

Options:

% D & 25 #iex | 50N (At $ 3R) F7 T vohel a
, v A @ 25 #iex | 50N (Ar #r 3R) F1 T Toher a
- % A 25 He | 50N
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(
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Question Number : 123 Question Id : 8797531530 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



A block of 500 N is to be moved upward for a distance of 1.6 m on an inclined plane of 45° with horizontal. Work done
will be [u=0.25]:

Options:
1 % 1000 Nm

5 o 50042 Nm
z % 500 Nm

4 % 100 Nm

Question Number : 123 Question Id : 8797531530 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SISt & | 45° % FE T g W 500N F TH SR HOFR Hr AT 1.6 A Hr gl 7% o e g
32T 71T 1T &8Em [p = 0.25]:

Options:

. % 1000 Nm
. v 500v2 Nm

- % 500 Nm
. % 100 Nm

Question Number : 124 Question Id ;: 8797531531 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For ductile materials. the largest value of tensile stress that can be sustained by material before breaking is known as:

Options:
, % Yield strength

-  Ultimate tensile strength
- » Modulus of elasticity

, % Toughness

Question Number : 124 Question Id ;: 8797531531 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FFAT TS F T, TehAT TAT F TEH T2 AT F FAT FET AT & TSN TeA T Tger Tard g@n
e Far =rar 22

Options:

| % UNTSE WHLT
-  HEHAH Fegdr THLT
o

o R
4 % Thel9d

Question Number : 125 Question Id : 8797531532 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

S-N curve represents the:

Options:

, « Fatigue strength (on y-axis) and numbers of fully reversed stress cycle (on x-axis)
-~ % Hardness (on y-axis) and numbers of fully reversed stress cycle (on x-axis)

5 x Fracture toughness (on y-axis) and numbers of fully reversed stress cycle (on x-axis)

, % Resilience (on y-axis) and numbers of fully reversed stress cycle (on x-axis)

Question Number : 125 Question Id : 8797531532 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

S-N % wfafafaes #ar &

Options:
S Afed (y-318T ) 3R 0T 3pH TA1a Tl I TEAT (x-378T W)

1.9

o w PORET (y-38T ) H qUT 3chd dATd ToRl T HEAT (X-38T )

5 & A FORAT (y-HeT ) HR qUT 3hdA daAld =l TEIT (X-378T W)

TS (y-387 ) AR 0T 3T TAT T T TEAT (x-3E W)

4 W

Question Number : 126 Question Id : 8797531533 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following scale is not used to measure the hardness of very hard materials?

Options:
1 % Rockwell ‘A’ scale

> « Rockwell ‘B’ scale
3 % Rockwell ‘C” scale

4 % Brinell hardness scale

Question Number : 126 Question Id : 8797531533 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ﬁmﬁﬁaﬁﬁmﬁﬂmmma@mmﬁmﬁm#ﬁmaﬁ%mm#
Options:

| % Tehder ‘A’ SHTAT
-  Tdael ‘B’ SFEAT
- % Tehaer ‘C’ YT
4 % 9T FIar A=

Question Number : 127 Question Id : 8797531534 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Poisson’s ratio for most of the engineering materials is in the range of:

Options:
; % 0.01to 0.05

- % 0.05t00.1
= % 0.1t00.25
4 « 0.25t00.35

Question Number : 127 Question Id ;: 8797531534 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hfereprer HFAFF Terer & T 9T & A (Poisson's ratio) H HAT &

Options:

, = 0.01 & 0.05
- % 0.05 & 0.1
- % 0.1 & 0.25
4 v 0.25 ¥ 0.35

Question Number : 128 Question Id : 8797531535 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Region of safety for maximum principal stress theory under bi-axil stress is shown by:
Options:

| Square

> % Hexagon

- % Ellipse

4 % Pentagon

Question Number : 128 Question Id ;: 8797531535 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HOHaA THE a9 HEd & forT gIaT & & e g femmar am 27

Options:

v T

Question Number : 129 Question Id : 8797531536 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Which of the following is true for ideal column compressed by an axial load (P )?

Options:
| % Column will be in unstable equilibrium if P < P, 4ica

- % Column will buckle if P < Prripicar
2 Column will be in stable equilibrivm if P < P_ ;4.1

4 ® Column will be in stable equilibrivm if P > P00

Question Number : 129 Question Id : 8797531536 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e # @ #id @1 & 3w a1 () @R @gfa e w6 & e a8 82

Options:

| T AT WOEEAT # R AR P < Py

, x T8 TH R TR P < P
. o T TR GTaed # @ I P < P s

, « T8 TR WEaE # ERT I P > P s

Question Number : 130 Question Id : 8797531537 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A hollow circular shaft of outside diameter 100mun and 90mm is subjected to a torque T = 3w kNm . Polar moment of
inertia of circular section is:

1 % 10°% m*. Maximum shear stress on the shaft is given by:

Options:
1 # 100 MPa

- #% 125 MPa
= « 150 MPa
4 % 175 MPa

Question Number : 130 Question Id : 8797531537 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T WA FAHR ©5 foraedr agd @rd 100 & 3k 90 B 8, vs @mept T = 3w kNm ﬁ@'s,?rg%
BIgeT ST 1 g Fecareur =x x 100 mé ¥ TF W o A sfean e afdee &

Options:

. % 100 MPa
» % 125 MPa
- v 150 MPa
. % 175 MPa



Question Number : 131 Question Id : 8797531538 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A cube of 1 m side has weight 1000N in water. What will be its weight in air (g =10m/s-)?

Options:
. % 1000N

.  10.000N
5 % 9.000N
.  1L.000N

Question Number : 131 Question Id : 8797531538 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1 #eT Je7 ITer T O Uy H #T 1000N | Za7 F SHET 6T FAT 2R (g=10m/s?)?
Options:

, % 1000N
, % 10,000N

5 % 9000N
. v 11,000N

Question Number : 132 Question Id : 8797531539 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Thermal resistance for hollow cylinder is given as

(where. A,, = logarithmic mean area of cylinder.

Ty, T3, L = Outer radiuvs. inner radius and length of cylinder respectively and k = Thermal conductivity):

Options:
Th —T1;

1 v kdm

3 ® kA
To —T;
4 x Amk(r X 13)

Question Number : 132 Question Id ;: 8797531539 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



e Jo0 & o a gfey raes &9 & T ser 2
(STET, A, = S T ALI0F AL &7 g,

0,7, L = RS B, ffial Bear o dae @ T g

k = FSHIT ATTRAT )7

Options:
o — T

¢ kA,

g — 1

1

o W k

L
3 % kA
h— 1
4 % 4mk(rg X17)

Question Number : 133 Question Id : 8797531540 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Heat transfer in a cyclic process are +20 kJ. -5 kJ. -10 kJ and +15k]J. Net work done for this cycle will be given by:

Options:

1 % T5KJ
> % -10kJ
3z  T20KJ
4 % -20k3

Question Number : 133 Question Id : 8797531540 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T ThIT TiehdT H FSAT T AR +20 kJ,-5 kJ, -10 kJ 30T + 15kJ &1 =9 =% & forw f&mar =
Iqg FY

Options:

| % +5 kJ
5 % =10 kJ
2 v +20 kJ
4 % 20 kJ

Question Number : 134 Question Id : 8797531541 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following statements is incorrect?
Options:

, « SIengine works on otto cycle.



2 ®
Self ignition temperature of the fuel of SI engine is comparatively lower than that of CI engine.

- » Compression ratio of SI engine is comparatively lower than that of CI engine.

g4 ®

Thermal efficiency of SI engine is comparatively lower than that of CI engine for same compression ratio and same
heat addition.

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 134 Question Id : 8797531541 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

F=faflT & ¥ #iF o7 FuT g 22
Options:

| » THIE I 3 TF W FH HLT ¢l
o W

THITS 51 & o0 $U7 &7 T Yeafad arAed HIHE $o $7 Joiar H F9eTFd FH 8
- UHHTS $3 1 GUISA HUd HIHE $597 1 Joial # HUeTHd FH gl
THHTS $3I1 T FSAIT G&TaT WIS §577 &1 Jofa1 H HUeTFd FH

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awar ded to all candidates.

4 %

Question Number : 135 Question Id : 8797531542 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Compacting process’ used in powder metallurgy is done:
Options:

| « After blending of metal powder and additives

- » After sintering of blended metal powder and additives
5 » After secondary finishing of sintered object

4 % To achieve atomization of molten metal

Question Number : 135 Question Id : 8797531542 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IUT ITgHA H 3TART & A aTll HIS Fiohal a @ AT 87

Options:

| U1 93T R AR F wlEAST % a1
. B O] 9EET AR A Fr e & A
- feweiter awg & gfadas afvaor & a1
, e g2 91 % FUA 9od = & o

4.



Question Number : 136 Question Id : 8797531543 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sintering is done:
Options:

, » Tocool the compact in water

-  To increase the strength of compact

z % To achieve the atomization of molten metal

, % Just after blending of metal powder and additives

Question Number : 136 Question Id : 8797531543 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

faeeieT #r 3 &

Options:

| % U H FEYFE 3T FH & OT

, » FFdFe Fr ofFT Fe= & forw

. ﬁmmgé 9T & FHU JTod A & o

, » 19 IR AR ASH F FEAAUL F oo 7@

Question Number : 137 Question Id : 8797531544 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The function of servo mechanism in EDM process is to:

Options:
, w Provide dielectric fluid of required flow rate

> % Provide power to generate the spark

-  Maintain a small gap between tool and work piece

4 % Clean the dielectric fluid

Question Number : 137 Question Id : 8797531544 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
$ETH Ifkar # @ar et & a9 g

Options:

| % TS ATE T FT HATHh oA I&Ty YT FHAT|
- e 3 F= & AT gy wee #

-« FUSIOT HIT FEAQUS F €T TF TIET T HATA AT TEAT

, % 3T AIel TSty H HIE FHLAT|



Question Number : 138 Question Id : 8797531545 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is incorrect for ‘continuous chips’ formation?

Options:
, % Itrequires ductile material of work piece

-  Itrequires low rake angle of cutting tool
5 % It generates very high frictional heat

4 % It is difficult to handle

Question Number : 138 Question Id : 8797531545 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T=fofaa # 9 #i7 @ ‘gag few & & @ a5d@r q3@ 22
Options:

| 3 PGS & FARAT AT H FNEeARAT Bl g
. v SH FEA F ITHOT F A I FIOT Fr H{FTFar 2T 2

. z@'ag?r?r 3= TYUT FSAT 39T H{aT &l

L SH T g HRw gl

Question Number : 139 Question Id : 8797531546 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is not a part of carriage in lathe mechanism?

Options:
1 % Saddle
- % Cross slide

- % Tool post

4 + Tail stock

Question Number : 139 Question Id ;: 8797531546 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fFrfof@a & @ #ia @ @ T & g #7 ve o 76 87

Options:

1_23?&3?
, « FIH TS
, oo A

&y

=



Question Number : 140 Question Id : 8797531547 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Finishing of existing hole is known as:
Options:

, % Boring

- » Counter boring

5 » Counter sinking

4  Reaming

Question Number : 140 Question Id : 8797531547 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ateer 7 F IR0 # FFE §T F = F1ar 22

Options:

; o® SIRET

L % FTEET AL
. e R
4 v Y

Question Number : 141 Question Id : 8797531548 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A 2 mm thick metal sheet is to be bent at an angle of 1.6 radian with the radius of 150 mumn. Distance of neutral axis
from inside surface is 0.5 x sheet thickness. Find out bend allowance.

Options:
1« 241.6mm

- % 28l.6mm
=z % 301.6mm
4 % 321.6mm

Question Number : 141 Question Id : 8797531548 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ve urg @ 2 A A aey & 150 fFr Fr B & wrr 1.6 Bw F Fior | A S g T #r
TAE ¥ 38 3T T g1 0.5 x ofie AES g A AR AT H

Options:

| v 241673
. = 2816



- » 301.6f3
. % 321.603

Question Number : 142 Question Id : 8797531549 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

For Gating system of casting, choke area (A) may be written as [where,
m = mass of casting,p = density of molten metal,

H = ef fective metal height,C = ef ficiency factor,t = pouring time]:

Options:

m
B m
2. % _pcm
ji BB T
3. % ptc
pm

L« tCy2gH

Question Number : 142 Question Id ;: 8797531549 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FITEeer Fr AT yomedr F AT, A &7 (A) Fr FFE w9 F B@r 31 gear 27

[ ST&T, m = FITECT T GeaHT,

Question Number : 143 Question Id : 8797531550 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

Shrinkage allowance may be expressed in:
Options:

, » mmkg

> % mmkgf

= % radian/sec

4 « mm/meter

Question Number : 143 Question Id : 8797531550 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hel= HFAR #1 Fad egad Far o wenar g2

Options:
. % mmikg

5 » mm/kg.f

= % radian/sec

4« mm/meter

Question Number : 144 Question Id : 8797531551 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The flame which contains excess oxygen than theoretical required:

Options:
» 1s oxidizing flame

1
> % 1is neutral flame

5 % 1s carburizing flame
, % Isacetylene flame

Question Number : 144 Question Id : 8797531551 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

it Srad deifas AaTesar ¥ e Jfafeg = g &

Options:

| HeFdERToT Ft g
, . et &
, « Ulafeea &t 7l

Question Number : 145 Question Id : 8797531552 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Which of the following is not true for brazing?

Options:
, w Filler material must have low melting point

o « It causes the metallurgical damage by phase transformation
5 x Gap between the parent material is filled by filler material

4, % Gap between the parent material is filled by capillary action

Question Number : 145 Question Id : 8797531552 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
f=fafaa # o T a1 e oo & o @dr J@ 822

Options:

- fohery gerey & e fog A g =fEe

zﬂugwqﬁaéﬂaﬁmmgmaaﬁﬂwm%
. T TS F @ F g F R Te F R F14T &
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3.

4 %

Question Number : 146 Question Id : 8797531553 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is incorrect for NC machine tool?

Options:
1

Instruction for manufacturing the components are written in coded language and read by tape recorder
2.
Instruction for manufacturing the components are given verbally to the instructor and he executes the given instruction

- % Instruction undergoes electronic processing and outcome is the pulsed command

, % Control unit sends signals to drive unit of machine tool and to magnetic box

Question Number : 146 Question Id : 8797531553 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fTafefRa # ¥ #i9 @ vadr 7T 39T & O @@ 7987 87

Options:
1. %

3T &F AT & v e FIftT s # frEr o § s o NEET @ w2 I 2
o

FaRT0T & faET F e e afets # A3ifeE 77 @ Y 3= § 3l 98 R av &y s
FLT 2



., (e g SHEROT Y A & I § AR oo wfea waArs E
4 %

fea=or g Fefe 3uEtoT & gfAe HR gEdT alew F A = F AT g S5 2

Question Number : 147 Question Id ;: 8797531554 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Performance rating of an employee may be expressed as:
Options:

, % (Normal performance) X (Observed performance)

( Normal performance )2
> % ‘Observed performance

(Obsewed performance )

. Normal performance
=

(Obsewed performance)
4 « * Normal performance

Question Number : 147 Question Id : 8797531554 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Teh FHART o TGN FT Hodlhed Thileh &7 H edad fhdl ST Hehcll g7
Options:

| % WA AT x TIEET Teoid

(mﬁ:mi?r )2
o #®

qiaflg e
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. v \FTHAET TS

Question Number : 148 Question Id ;: 8797531555 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The time study of machinery operation recorded a cycle time of 7.0. 6.0, 7.0. 8.0 minutes. The performance rating of
worker is 95%. The allowance fraction is 0.1. Standard time will be given by:

Options:
1 % 15.65 minutes

> o 7.39 minutes



= % 4.66 minutes
4 % 2.87 minutes

Question Number : 148 Question Id : 8797531555 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FMAr 3R F FHET 3eTAS + 7.0, 6.0, 7.0, 8.0 THAC FT U WAT T+ I [HAT g1 FEET F
Sedd F Hedieha 95% gl HeFJAes 3w 0.1 ¢ Alds TAT &7

Options:

, % 15.65 f&=e
> v 7.39 faee
5 » 4.66 fAee
L # 2.87 e

Question Number : 149 Question Id : 8797531556 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If an object is being painted while transported by chain conveyor can be shown by symbol:

Options:

e
Ne

.+©

4 % A

Question Number : 149 Question Id : 8797531556 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
IS FEF AN of AR S WE g W Al e A o @ A 39 Rw S g@nr qeifar A Hehar
g?

Options:

1% O

Question Number : 150 Question Id : 8797531557 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Critical path is a path along which:

Options:



, « Earliest finish time(EFT) = Latest finish time(LFT)

» % A path along which LFT=EFT

- % A network of shortest path and consumes minimum time

4 % Float is not zero

Question Number : 150 Question Id : 8797531557 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fl=de 99 TF 99 § 5w @

Options:

| ofEnfaeler gATCT AT (EFT) = d&i9dHd §ATT @A (LFT)
. % T 9 g 5@H LFT>EFT

.y TTHAH T T JTad AT T FH T@IT FIT &l

. FAlC T el ¢

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 8797531558 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the least number which when divided by 12. 15 and 24 leaves remainder 5 in each case?

Options:
;. % 115

5 % 120
5 & 125
4 % 130

Question Number : 151 Question Id : 8797531558 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
I o8 ¥ o TEar S 12, 15 9w 24 ¥ franfee v W ueds fufy 5 o g=ar 7

Options:

. % 115
> % 120
2 v 125
. % 130




Question Number : 152 Question Id : 8797531559 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ifa:b=4:5and b :c=3 ;7. then what is value of o : ¢?

Options:

1 % 4:7
> ®% 7.4
- % 35:12
4« 12:35

Question Number : 152 Question Id : 8797531559 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
O a: =4 :53T b: c=3:7gal a: ¢ AT FT M7

Options:

1 = 47
s % 7114
z % 35 : 12
4 A2 30

Question Number : 153 Question Id : 8797531560 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A sum of money amounts to ¥ 2200 in 2 years and ¥ 2300 in 3 years at simple interest. What is the sum of money?

Options:
1 % T 1900

> % ¥ 1950
5 « 2000
4 % T2100

Question Number : 153 Question Id : 8797531560 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TF 1T TIUTROT ST #T 2T ¥ 2 Fuf F T 2200 & ST & Tur 3 Iuf F ¥ 2300 B =y £ 37 ufer
T 87

Options:

. % ¥1900
. % T 1950
- v %2000
. % 2100

Question Number : 154 Question Id : 8797531561 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
The selling price of an article is ¥ 3000. If profit is 20% on cost price. what is the cost price of the article?

Options:
1 % T3600

> « T2500
5 % 2400
4 % 2000

Question Number : 154 Question Id : 8797531561 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ue TFG @ [T AeT T 3000 g A A, FT Hed & 20% &, A 38 IE] F HT Hed fohedell g7

Options:

% T 3600
» v T 2500
- % T 2400
. % 2000

Question Number : 155 Question Id ;: 8797531562 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Two vessels A and B contain spirit and water in the ratio 2 : 3 and 3 : 4 respectively. Their contents are mixed
in the ratio 3 : 1. What is the ratio of spirit and water in the new mixture?

Options:

Question Number : 155 Question Id : 8797531562 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ar ST H TBIT TUT 9T F AT AT 2 0 33T 30 4 7| 3% O A3 0 1%
3eqra 7 faemar sar g1 73 fsor 7 e qur 96 & e #=4r geme

Options:

1« 57 : 83
> % 83 : 57
z % 2:1

4 % 25 : 43

Question Number : 156 Question Id : 8797531563 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



A train 90 m long is moving at a speed of 44 km/h. It crosses a train 120 m long coming from opposite direction along
parallel tracks in 6 seconds. What is the speed of the second train?

Options:

1 % 132 km/h
> o 82 km/h
z % 80 km/h
4 % 56 kmv/h

Question Number : 156 Question Id : 8797531563 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T YormEr fAwdr o 90 m g 44 km/h Fr TA T W g1 TE 120 m A TH @A
Yermgt St fadie feer & @AET wefEt @ ar @ 3, #Y 6 ke A R Fr 31 qEd oEms f
=T haer 272

Options:

1 % 132 km/h

> « 82 km/h

= % 80 km/h

. % 56 km/h

Question Number : 157 Question Id : 8797531564 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Six men can complete a work in 12 days. 3 days after thev started the work. 3 more men joined them. How many days
will they take to finish the remaining work?

Options:
1 *® 3

2_$3—’|-
2. ¢ 0
4 % 9

Question Number : 157 Question Id : 8797531564 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

6 3mesr Fe R @ 12 fF § W W T g FF IREH WA F 3 T TeIna w7 3
e 30 e I3 § O O s T A oA # 9@ @ Sem?

Options:

1.233

2_234

3z« B

4 % 9



Question Number : 158 Question Id : 8797531565 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The ratio of 10 term to 7% term of a G.P. is 1 : 8. What is the common ratio of the G.P.?

Options:
1

1 @ 2

I

2 %

T
¥
o m|e

Question Number : 158 Question Id ;: 8797531565 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fHr G.P. (FUiica 41 & g T HA9 9ai & 3qaid 1 : 8 §1 G.P. & | 3591a &=r ¢?

Options:

e
1.9 2
2_%-:52

1
s % 8
4 % 8

Question Number : 159 Question Id : 8797531566 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A spherical balloon of radius 1 m subtends an angle of 60° at the eye of an observer. If the angle of elevation of its
centre is 45°, what is the height of the centre of the balloon?

Assume that the eye of observer is at level ground.

Options:
1 # 100 cm

o « 100v2 cm
100
, T3 yam

T

4 % 100v3 cm

Question Number : 159 Question Id : 8797531566 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U MR a7 Formhr Bsar 1 m &, v a7 v 3@ W 60° FT FHoT I@T Far 2
I 9atsh T HTE T TR F FF F 3o=idaT HIT 45° § O qeER F Fg H 3T o 2

(AT NTST Te7eF T AW e_TeT H Fag W )|

Options:




1 % 100 cm

o« 100+/2em

100
—+/3cm
=3 ® 3

4 % 100+/3cm

Question Number : 160 Question Id : 8797531567 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What is the quadratic equation whose roots are the squares of roots of the equation x? + 3v2x+ 6 = 0?2
Options:

| % Y2 —12x+36=0

o % Y2 +12v+36=0
5 % Y2 +6x+36=0

4 X —6X+36=0

Question Number : 160 Question Id : 8797531567 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

98 SfaeTd HHEROT T B8R f5Hes Aol HARIU]
x2 +3V2x+ 6 =0 & FHAl & FoT o &L &7

Options:

L% X -12x+36=0

o % X+ 12x+ 36 =0
% X +6x+36=0
L X -6Bx+36=0

Question Number : 161 Question Id : 8797531568 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
M is the brother of J.
L is the sister of M.
K is the daughter of J.
N is the brother of K.
How is N related to M?
Options:
1 % Father

> % Uncle
= % Son

4 « Nephew



Question Number : 161 Question Id : 8797531568 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

M, J T &% 2

L, M #r 5&7 gl

K, J &1 3¢ g1

N, K & &g &l

N & M & Far gaer g2
Options:

o % ™=l

E_QaET
4¢94T-ﬁ?|T

Question Number : 162 Question Id : 8797531569 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following numbers is related to 498 in the same way as 29 is related to 907

Options:
, % 159

5 o 165
2 % 250
4 % 255

Question Number : 162 Question Id : 8797531569 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

aoi@T fAecdr # @ ST TEar 498 ¥ 3 38 91 Hafag & &9 91 29 I8 §&ar
90 ¥ mefaaT &7

Options:

| % 159
- 165
- % 250
. % 255

Question Number : 163 Question Id : 8797531570 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What is related to *Cordial’ in the same way as ‘Gentle’ is related to ‘Harsh’?
Options:

1 % Kind



- % Timid
= « Hostile

4 % Polite

Question Number : 163 Question Id : 8797531570 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

59 9T ‘Gentle’. ‘Harsh’ ¥ Tafg &, 38 R, F=A@a § T FiF 1 o= ‘Cordial' ¥ @sloT &7
Options:

. % Kind

- % Timid

= « Hostile

4 % Polite

Question Number : 164 Question Id : 8797531571 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Five friends are sitting in a circle facing the centre. Chanchal is sitting immediately to the left of Padma. Manju is sitting
between Deepu and Padma. Who is sitting to the immediate right of Bhavna?

Options:
1 +« Chanchal

- % Padma
- % Manju
4 % Deepu

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 164 Question Id : 8797531571 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Wmm;ﬁamﬁﬁm{ﬁ?dﬁmmuﬁﬂ%??l e, T3 T PRI a5 AR S g A
&g A T F dg & &1 s S g9 g AR i S 2

Options:

| v T

> % 9HI

arq

4 % VA

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 165 Question Id : 8797531572 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average age of 24 students and their teacher is 25 years. If the teacher’s age is excluded. the average reduces by 1.
What is the teacher’s age?



Options:
| % 25 years

5 % 37years

5 % 42years

4 49 years

Question Number : 165 Question Id : 8797531572 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

24 faemfiat w3 3w et $r sitea g 25 a¥ g1 fems & g 1 afde 7 w3 W e 1
FH & Far &1 Rreww B g w=r

Options:

, % 25 39
5 % 37 a¥
5 % 42 I¥
4 v 49 T

Question Number : 166 Question Id : 8797531573 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If in a certain code SPRING is written as RQQINMH. then how will FLOWER be written in the same code?

Options:

. « EKNVDQ
> v EMNXDS
- % GKPVFQ

4 % REWOLF

Question Number : 166 Question Id : 8797531573 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e fordT @i § SPRING & RQQJMH & &7 & Tor@r =ar § &, 387 12 & FLOWER & &g forar
FTTIAT?

Options:

., » EKNVDQ
- v EMNXDS
- » GKPVFQ
. » REWOLF

Question Number : 167 Question Id ;: 8797531574 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Amit goes 12 metres South. then turns left and walks 15 metres, then turns right and walks 15 metres and he again turns
right and walks 15 metres. Finally. he turns to the right and moves a distance of 5 metres. How far and in which
direction is he from the starting point?

Options:

1 % 22 metres North
> « 22 metres South
= % 12 metres East

4 % 15 metres West

Question Number : 167 Question Id : 8797531574 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HfEq, gfayor #r 3R 12 #Hex Jmar g, 3 BT 915 3R gz 15 HAe Tear g, 39 &g 98 s
HT Az 15 MeX Torar ¢ 3R 77 B o 3T Jgeax 15 Hex @ §1 3T &, 97 o 3R g
5 HeT Terar g1 YT T ¥ 3¢ e gy A frw fear & 82

Options:

, % 22 HIEX 3cH
5 22 Hrex giaor
L e 12T

Question Number : 168 Question Id : 8797531575 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing number from the given alternatives.

4 12 4
6 29
7 38 11
9 75 ?
Options:
1.v 6
o # 7
= #® 3
4 ® 9

Question Number : 168 Question Id : 8797531575 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



#ﬁf%ﬂrwﬁrﬁq‘iﬁﬂﬁmmwml

4 12 4
6 29 7
7 38 11
9 T ?

Options:

1. ¢ 6

s % 7

z % 8

4 % 9

Question Number : 169 Question Id : 8797531576 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Identify the diagram that best represents the relationship among classes given below.
Pet. Animal. Wolf

Options:

OO
P

4

Question Number : 169 Question Id : 8797531576 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



37 B3 fr 9gEe F A A 91 F S Fr g9 e 9 § AT T
qrele], 99, ey, AT

Options:

OO

©0

3 ®

4 &

Question Number : 170 Question Id : 8797531577 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the given statements to be true, even if they are at variance from commonly known facts and decide which of
the given conclusions can definitely be drawn from the given statements.
Statements:
1. All trucks are trains.
2. Some trains are scooters.

Conclusions:
L Some trcks are scooters.
1I. Some trains are trucks.
Options:

, w Only conclusion I follows.

o « Only conclusion II follows.
z % Both conclusions I and II follow.
4 % Neither conclusion I nor II follows.

Question Number : 170 Question Id : 8797531577 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



R@T Fua, I GEeTaar 99 9207 ¥ @ & af & 3% o A= 3k o Ao & & A=
feT =TT Fuat # ¥ 9 ¥ @Sy 309+ 2 2

FUA :

. T3l T T B B
FO A THeT A Bl

—

| )

FC ¢ TFHT @ 2
Il. T A g 8 ¢l
Options:

- Faer [y | SHT HTHEIT AT ¢
- Faer sy |l SHFT IFFEOT FHAT 2
— 3R 11 gt $HET HTEOT A &

L A AT 7 & 1l SHFT HFEWT FA

Display Number Panel: Yes
Group All Questions: No

Question Number : 171 Question Id : 8797531578 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Article of Indian Constitution guarantees equality of opportunity in matters of public employment?

Options:
{ % Art. 19

> % Art. 14
-z % Art. 21
4 o At 16

Question Number : 171 Question Id : 8797531578 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ARG @fews & 58 3o (Article) % T@8d @l @it (public employment) & =&Y #r
TATAAT T T & AT 272

Options:

HJ=te (Article) 19
HT=OE (Article) 14

1. %

2 %



, ¥IeST (Article) 21
3J=oq (Article) 16

=

4 &

Question Number : 172 Question Id : 8797531579 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which pair of Indian Constitutional Provision and the country that influenced it. is not correctly matched?

Options:
, w Parliamentary System - Britain

-  Fundamental Rights - USSR

= % Concurrent List - Australia

, % Directive Principles of State Policy - Ireland

Question Number : 172 Question Id : 8797531579 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fr=fafee & v @ adn vdufas geue ik ©F oo 7 58 ssnfam fear 2, gafee =& &2
Options:

| % TEEE guTer - e
.  Hlifoe FFR - AifagT Ig
2 % FASST FET (Concurrent List) - HEefeam

L » =T & Aifg s e - smels

Question Number : 173 Question Id : 8797531580 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which country won the maximum number of medals in the Rio Olympics. 20167

Options:
1 % China

> % India
= % Russia
4 « USA

Question Number : 173 Question Id : 8797531580 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frm cor & TaT 3=, 2016 & 3¥aH 9= Far g2
Options:

1_235?'?1’
g_ﬁm




=] W EFF
&g#ﬁ =T 33T

4

Question Number : 174 Question 1d : 8797531581 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which player has won the maximum number of Grand Slam men's singles tournaments in Tennis?

Options:
1 % John McEnroe

5 % Pete Sampras
5 x Andre Agassi

4 « Roger Federer

Question Number : 174 Question Id ;: 8797531581 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frafaf@a 7 & fFw emdr & 9 397 7 g98 3w dsrn 2faw () e S 82

Options:

% ST HFRT
- » U HFE
-
4 v TR F=W

Question Number : 175 Question Id : 8797531582 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where was ASEAN Sumumit. 2016 held?

Options:
1 % Jakarta

> % Hangzhou

3 « Vientiane
4 % Singapore

Question Number : 175 Question Id : 8797531582 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HIfAHF (ASEAN) TfAT 2016 Far g3 um?

Options:

1 & G{EFIFﬁ'
. % EMETeF (Hangzhou)



5 v AU (Vientiane)
e

4 W 3

Question Number : 176 Question Id : 8797531583 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which state of India has created first island district of India?
Options:

1 ®% Goa

- % Gujarat
z % Maharashtra

4 « Assam

Question Number : 176 Question Id ;: 8797531583 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
aRE F B =T A 9u7 @9 fFew (Island District) Tanfa far 272
Options:

llsz?ﬂEIT

o w2

T W ;EE[ {1 §
4 « 3HHA

Question Number : 177 Question Id : 8797531584 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What i1s GST?

Options:

, « A single indirect tax throughout India
- % Asingle direct tax throughout India

- % Multiple direct tax regimes throughout India

, % Multiple indirect tax regimes throughout India

Question Number : 177 Question Id : 8797531584 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
v (GST) Far 27
Options:

- FI{U% ARG H A T 39cTET Y

x Wﬂﬂ?ﬁmq\uq—: TcTeT F

2



. o ORA ST H WF] e ToUeT F AEAT

, w TR 8R H A1) Helsh 39cTET Y cAaEdqT

Question Number : 178 Question 1d : 8797531585 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who would act as the Chairperson of the proposed GST Council?

Options:
, % Union Finance Secretary

- % RBI Governor

5 % Union Commerce and Industry Minister

4 + Union Finance Minister

Question Number : 178 Question Id : 8797531585 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AfFafEa F @ #i7 Shvad. (GST) oiiwg & 34e7sr & T F F1IT FEm?

Options:

_ T SO ve see F

Question Number : 179 Question Id : 8797531586 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

“Reading the Past, Writing the Future”, was the theme of:
Options:
, % The International Yoga Day. 2016

- % International Day of Forests, 2016
- % International Mother Earth Day. 2016

4 « International Literacy Day., 2016

Question Number : 179 Question Id : 8797531586 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT 92T 3R gfasy Fr @ (“Reading the Past, Writing the future”), famafof@a & &
e fawgasg (theme) 2t?

Options:

| » AU AT fREw, 2016



., « HOUET a1 fEFw, 2016
2 % HASET JeEETar f@3w, (International Mother Earth Day, 2016)
, v FAOET wenar feFw, 2016

Question Number : 180 Question Id : 8797531587 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following statements about West Bengal.
1. It has changed its name from West Bengal to Bangla in Bengali.
2. It has changed its name from West Bengal to Bengal in English.
3. Its assembly has rejected the proposal to change the State’s name.
4. It has changed its name. However. consent of the Parliament is necessary to effect the name change.

Which of the above statements is/are FALSE?
Options:
; » Onlyland4

> % Only2and3

5  Only3
, % Only4

Question Number : 180 Question Id : 8797531587 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I 9 & g H Aeafoia@d HUar 97 @=n S
1.30 TsT & H9UAT AT 99aH @ § &9 (Bangla) S9Telr $19T & &Y foram g
2.0 T=T & 9T ATH 999H 9 § @90« (Bengal) 3= & #v forar &
3.39 U= 1 Fue @ F 94 U8 F7 ATH g¢dd & &S S Wi &7 2 g
4.0 =T & HIAT ATH TSl ¢ oifehad ARATT HHG $H HgATT W THEN a7 &+ foIw A9+ gl

ITFT FUAT A T FiT 91 FI94 999 27

Options:

| % had 1 TT 4
- % Hhao 2 TF 3
5 « &I 3
4 % ol 4

Question Number : 181 Question Id : 8797531588 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Muscles are attached to the bones by means of:
Options:

, w ligaments



- « tendons
3 % ribs

4 % fibula

Question Number : 181 Question Id : 8797531588 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
aTgafar % ATIH ¥ g § 2 @

Options:

| % SMPTHTH (Ligaments)
> of &sie" (Tendons)

x TEfE (Ribs)
fohger (Fibula)

=

4 ®

Question Number : 182 Question Id ;: 8797531589 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Without the ‘Greenhouse effect’, the temperature of the earth would have been:

Options:
1 % 0°C

> % 60°C
2 % —50°C
4 & —18°C

Question Number : 182 Question Id : 8797531589 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT 837 99T & &=, gt &1 J9a= #7247 g FA1ar?

Options:

. = 0 =2 afcaaw

- % 60 f==fr afcaaw
- % -50 T2=Tr afcwaw
4, v -18 3= afewzw

Question Number : 183 Question Id ;: 8797531590 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is “Namami Gange™?
Options:

. % Asocial welfare programme for under-nourished children



-~ % Rehabilitation of persons devastated by floods near the bank of Ganga river

- % Scientific management of “overcrowding™ at the pilgrimage centers around Ganga river

4 « Anntegrated Ganga Conservation Mission

Question Number : 183 Question Id : 8797531590 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Options:

. FAYOT § FoIfaa F=ar & T vF aEiae Fweanr e
- I AT F AT F W a6 T TIAS SN & IAGH F T v cHawen

L x T FE F HEIH F AT T W fwAT F IS Toeua FT UF Igen
, » UF THPd IR FRET0T e

Question Number : 184 Question Id : 8797531591 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following blood groups of human beings is called “Universal donor™?

Options:
1 & AB -

2_$3 B+
3. ¢ O—
4 % AT

Question Number : 184 Question Id : 8797531591 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT F fAFT & g § ¥ FIT 9 &9 GHE “gfAa8 aar (Universal Donor) T ST 872

Options:

1 #® AB_

2_%8"'

3¢ 0 -

4% A+

Question Number : 185 Question Id : 8797531592 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where is National Gallery of Modern Art situated?

Options:
1 % Ahmedabad



- % Kolkata
= % Port Blair
4 « New Delhi

Question Number : 185 Question Id : 8797531592 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HYfAeF For WA (National Gallery of Modern Art) feafaf@a & & frw e & g 22
Options:

1w SeHCES
glam

R
4 v e

Question Number : 186 Question Id : 8797531593 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following states of India is associated with “Mohiniyattam™ dance form?

Options:
1 % Odisha

- % West Bengal

= % Assam
4 « Kerala

Question Number : 186 Question Id : 8797531593 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fFfof@a & @ sRa & Fia =7 AfRAgA (Mohiniyattam) Fer el & 37 g3 g2
Options:

| % 3 (Odisha)

o % G F9TT
3.233'1-&?:[

4 v B

Question Number : 187 Question 1d : 8797531594 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“Servants of India Society” was founded by:

Options:
1 % Mahatma Gandhi

- » Bal Gangadhar Tilak



= « G.K. Gokhale

4 % Annie Besant

Question Number : 187 Question Id : 8797531594 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tdeeg HTF 3f=ar TraEdr (“Servants of India Society”) BFas ZarT TR & T o2

Options:

| % HETeAT Fed
o w areT MR faerR
B_JWWW

Question Number : 188 Question Id : 8797531595 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Cabinet Mission Plan to make India a loose. three-tier confederation. as a possible alternative to partition. failed
because:

Options:

. w» The Congress did not accept it initially.

> % The Muslim League did not accept it initially.
- % The British government opposed it.

4  The Congress and Muslim League interpreted the plan in a mutually opposed way.

Question Number : 188 Question Id : 8797531595 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Flaae e &1 A #1 dFeus 90T FuH 9RT #F TF FAAR d9 =0T o
(aloose three-tier Confederation) ST &1 Tt off, 9 Awer &1 =T, it

Options:

Y€ H FEH 7 SH FHR Al haT|

- € H AT T W FHER AGT |

o w TSI WIFR # FHA fawrer famam)

Ly FEE AT FEAH T F $H Tofalr H WER el e i

1. %

Question Number : 189 Question Id : 8797531596 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Indus river originates near:

Options:



1 « Mansarovar
> % Gangotri
= % North Kashmir

4 % Siachen Glacier

Question Number : 189 Question Id : 8797531596 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0.25

fowy 7 & seufea (Origin) Far g 872
Options:

1 & ATAEIET

o % FTEIET

5 % 3cadl :AR

4 % THOTRAE TR

Question Number : 190 Question Id : 8797531597 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following major rivers of Deccan region is NOT east flowing river?
Options:

1 « Narmada

> % Godavari
- % Krishna
4 % Cauvery

Question Number : 190 Question Id : 8797531597 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SFGE &1 % WHE ARGAl H H didA T Acr a7 G20 T HWE A4l q@l 82
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Display Number Panel: Yes
Group All Questions: No



Question Id : 8797531598 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
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Sub questions

Question Number : 191 Question Id : 8797531599 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| » TISTRTT HTCATASR gel
. % Ggl & TTemd HEre= e
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Question Number : 192 Question Id : 8797531600 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9H-faae &1 aone a7 e R —
Options:

| x ST T AT g Eew

. » TSRl BT T ATARS §4 AT
5 v TEfRAT T AH-TA FeEm

, % O T HIF0T G gE

Question Number : 193 Question Id : 8797531601 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Zgs T9¥ §HEST 9 ST § 59 —
Options:
| T9ET AT @A

- % &l aRaR feEmET Fa a9

Question Number : 194 Question Id : 8797531602 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3T TF ZRS FlelT THTET FET T TIC
FITeh —

Options:

|y T ary e
, x CISTRAN & I drse ol

., T Sk TIE I Tl g3

. % AT FT Bk FAEr o

Question Number : 195 Question Id : 8797531603 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g8l da-gey & INUTH IE gar ¢ F—



Options:
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Question Id : 8797531598 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
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Sub questions




Question Number : 191 Question Id : 8797531599 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 192 Question Id : 8797531600 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
97-faaE &7 gonE I v & -
Options:
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Question Number : 193 Question Id : 8797531601 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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5 % G TER femmEr #Ee W
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Question Number : 194 Question Id : 8797531602 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 195 Question Id : 8797531603 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 196 Question Id : 8797531604 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T # 9 #lF T e Fr 39 T &

Options:

Question Number : 196 Question Id : 8797531604 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fT=fof@a # O #iF T aee Fr 3547 TEr 872

Options:

Question Number : 197 Question Id : 8797531605 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| % IROTEAT

o RO

5 % UL

4 % IROTST

Question Number : 197 Question Id : 8797531605 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘9RUT H 3T g3 reFaTer & T UF oreg e —

Options:

1 % OIS

4 % QROTHH

Question Number : 198 Question Id : 8797531606 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hfagiee ereg &1 fFea ghem —

Options:

Question Number : 198 Question Id : 8797531606 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘sfagiee’ oreg #1 e g -

Options:



Question Number : 199 Question Id : 8797531607 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TSAT e T AT FAel & —
Options:
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> % oHHAl

EJW

4 % TTAT

Question Number : 199 Question Id : 8797531607 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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5 v TSR
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Question Number : 200 Question Id : 8797531608 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 200 Question Id : 8797531608 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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